


Redline is the nation’s largest seller of packaged trailer brakes, brake components, 
and trailer running gear. We’ve been leading the way since 1980 and have built our 
reputation on offering our customers the best quality trailer parts provided in eye 
catching packaging! There are a number of choices to help you grow your business, 
including the most popular aftermarket trailer parts in these categories: 

TRAILER PARTS PRO
BY REDLINE

* Our Trailer Parts Pro line offers color-coded packaging to help 
quickly identify the right category for the part you need.



2

Hardware   .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 35

BRAKE PARTS

RUNNING GEAR

ELECTRICAL

JACKS/COUPLERS

TOWING

HARDWARE

STORE KITS

TABLE OF CONTENTS

Electric Brakes   .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 3
Hydraulic Brakes  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 9
Air Brakes   .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 14

Hub Kits  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 15
Hub/Drum Kits  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 16
Replacement Parts   .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 17
Suspension .   .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 21

Lighting .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 23
Electrical   .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 29

Jacks   .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 32
Couplers  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 33

Towing Accessories  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 34

Store Kits  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 40



3

ELECTRIC BRAKES

ELECTRIC BRAKES

• OEM Quality Replacement Brakes

• Universal Fit For Popular Brands Like Lippert, Dexter, Hayes/AL-KO And More

• Sizes From 7” Up To 12” With Standard Bolt Patterns

• Complete Assembly Ready To Bolt On And Wire (Nuts Included)

• Fits Standard Axle, Attaches To The Mounting Flange

PART #

EB01-070

EB01-075

EB01-100

EB01-105

EB01-120

EB01-125

DESCRIPTION

Electric Brake Assembly, 7”x1.25”, Left Hand, 2.2K/PR, Universal Fit

Electric Brake Assembly, 7”x1.25”, Right Hand, 2.2K/PR, Universal Fit

Electric Brake Assembly, 10”x2.25”, Left Hand, 3.5K/PR, Universal Fit

Electric Brake Assembly, 10”x2.25”, Right Hand, 3.5K/PR, Universal Fit

Electric Brake Assembly, 12”x2”, Left Hand, 5.2K-7K, 8K Hybrid, Universal Fit

Electric Brake Assembly, 12”x2”, Right Hand, 5.2K-7K, 8K Hybrid, Universal Fit

REF #

188851

188855

188860

188865

188890

188895

ELECTRIC BRAKES - SELF ADJUST

• OEM Quality Replacement Brakes

• Universal Fit For Popular Brands Like Lippert, Dexter, Hayes/AL-KO And More

• Sizes From 10” Up To 12.25” With Standard Bolt Patterns

• Complete Assembly Ready To Bolt On And Wire (Nuts Included)

• Fits Standard Axle, Attaches To The Mounting Flange

• Brakes With The Self Adjusting Feature Take The Guess Work Out Of Brake Maintenance

PART #

EB01-107

EB01-108

EB01-127

EB01-128

EB01-130

EB01-135

EB01-140

EB01-145

EB01-150

EB01-155

EB01-157

EB01-158

EB01-160

EB01-165

DESCRIPTION

Electric Brake Assembly, 10”x2.25”, Left Hand, 3.5K/PR SLF-ADJ, Universal Fit

Electric Brake Assembly, 10”x2.25”, Right Hand, 3.5K/PR SLF-ADJ, Universal Fit

Electric Brake Assembly, 12”x2”, Left Hand, 5.2K-8K/PR SLF-ADJ, Universal Fit

Electric Brake Assembly, 12”x2”, Right Hand, 5.2K-8K/PR SLF-ADJ, Universal Fit

Electric Brake Assembly, 12.25”x3.38”, Left Hand, 8K/PR, Universal Fit

Electric Brake Assembly, 12.25”x3.38”, Right Hand, 8K/PR, Universal Fit

Electric Brake Assembly, 12.25”x3.38”, Left Hand, 10K/PR, Universal Fit

Electric Brake Assembly, 12.25”x3.38”, Right Hand, 10K/PR, Universal Fit

Electric Brake Assembly, 12.25”x3.38”, Left Hand, 10K/PR, QTP

Electric Brake Assembly, 12.25”x3.38”, Right Hand, 10K/PR, QTP

Electric Brake Assembly, 12.25”x4”, Left Hand, 10K/PR, Universal Fit

Electric Brake Assembly, 12.25”x4”, Right Hand, 10K/PR, Universal Fit

Electric Brake Assembly, 12.25”x5”, Left Hand, 12K/PR, Dexter

Electric Brake Assembly, 12.25”x5”, Right Hand, 12K/PR, Dexter

REF #

188867

188868

188897

188898

188900

188905

188910

188915

188920

188925

188940

188945

188930

188935

B
R

A
K

E
 P

A
R

T
S



4

REPLACEMENT PARTS - SHOE & LINING KIT

• Includes Brake Shoe And Linings For 1 Wheel

• Universal Fit For Lippert, Trailer Parts Pro, Dexter And Many Other Brands

• For Electric Brake Applications 

• Replacements For 2.5K Through 12K Capacity

PART #

BP04-040

BP04-065

BP04-095

BP04-100

BP04-162

BP04-164

BP04-165

BP04-168

BP04-171

BP04-172

BP04-185

BP04-220

BP04-235

BP04-236

BP04-238

BP04-240

BP04-245

BP04-250

BP04-255

BP04-290

BP04-320

BP04-325

BP04-330

BP04-335

BP04-360

BP04-365

BP04-370

BP04-375

DESCRIPTION

Shoe & Lining, 7”x1.25”, Electric Brakes, 1 Wheel, Universal Fit

Shoe & Lining, 10”x1.5”, Electric, 1 Wheel, 2.8K, Universal Fit

Shoe & Lining, 10”x2.25”, Electric, 3.5K, Universal Fit

Shoe & Lining, 10”x2.25”, Electric, 1 Wheel, 3.5K, Hayes/AL-KO

Shoe & Lining, 12”x2”, RH, Free Back, 1 Wheel, 5.2K/7K, Universal Fit

Shoe & Lining, 12”x2”, LH, Free Back, 1 Wheel, 5.2K/7K, Universal Fit

Shoe & Lining, 12”x2”, Electric, 6/7K, Universal Fit

Shoe & Lining, 12”x2”, Electric, 1 Wheel, 5.2K/7K, Demco/Titan

Shoe & Lining, 12”x2”, LH, Electric, Self-Adjust, 6/7K, Universal Fit

Shoe & Lining, 12”x2”, RH, Electric, Self-Adjust, 6/7K, Universal Fit

Shoe & Lining, 12”x2”, Electric, 1 Wheel, 6/7K, Hayes/AL-KO

Shoe & Lining, 12”x3.38”, Electric, 1 Wheel, 8K, Hayes/AL-KO

Shoe & Lining, 12.25”x2.25”, Electric, 1 Wheel, 7.2K, Universal Fit

Shoe & Lining, 12.25”x2.5”, LH, Electric, Cast, 7.2K, Universal Fit

Shoe & Lining, 12.25”x2.5”, RH, Electric, Cast, 7.2K, Universal Fit

Shoe & Lining, 12.25”x3-3/8”, LH, Electric, 1 Wheel, 8K, Universal Fit

Shoe & Lining, 12.25”x3-3/8”, LH, Electric, Cast, 8K, Universal Fit

Shoe & Lining, 12.25”x3-3/8”, RH, Electric, 1 Wheel 8K/10K, Universal Fit

Shoe & Lining, 12.25”x3-3/8”, RH, Electric, Cast, 8K/10K, Universal Fit

Shoe & Lining, 12.25”x3.5”, Electric, 1 Wheel, 9/12K, Hayes/AL-KO

Shoe & Lining, 12.25”x4”, LH, Electric, Cast, 1 Wheel, 10K, Universal Fit

Shoe & Lining, 12.25”x4”, LH, Electric, Cast, 10K, Universal Fit

Shoe & Lining, 12.25”x4”, RH, Electric, Cast, 1 Wheel, Universal Fit

Shoe & Lining, 12.25”x4”, RH, Electric, Cast, Universal Fit

Shoe & Lining, 12.25”x5”, LH, Electric, Cast, 1 Wheel, 12K, Dexter

Shoe & Lining, 12.25”x5”, LH, Electric, Cast, 12K, Dexter

Shoe & Lining, 12.25”x5”, RH, Electric, Cast, 1 Wheel, 12K, Dexter

Shoe & Lining, 12.25”x5”, RH, Electric, Cast, Dexter

REF #

204600

204850

205201

205400

206100

206200

206201

206300

206690

206695

206725

207800

208100

208110

208120

208200

208300

208400

208500

209200

209600

209610

209800

209810

210400

210410

210600

210610

ELECTRIC BRAKES

B
R

A
K

E
 P

A
R

T
S



5

REPLACEMENT PARTS - MAGNET KITS

• Universal Fit For Lippert, Trailer Parts Pro, Dexter And Many Other Brands

• Replace A Worn Out Magnet On Your Electric Brakes, Rather Than Having To Replace 
The Entire Assembly

PART #

BP01-068

BP01-110

BP01-115

BP01-140

BP01-180

BP01-185

BP01-225

BP01-255

BP01-265

BP01-285

BP01-301

BP01-306

BP01-311

PWC1012

DESCRIPTION

Brake Magnet, 7”x1.25” & 10”x1.5”, Pre 1998, Universal Fit

Brake Magnet, 10”x2.25”, Universal Fit

Brake Magnet, 10”x2.25”, Genuine Dexter Only 

Brake Magnet, 12”x2”, Universal Fit

Brake Magnet, 12”x2”, 6K-7K, Universal Fit

Brake Magnet, 12”x2” w/Wire Sleeve, 6K, Genuine Dexter Only

Brake Magnet, 12”x2” 7K & 10” 4.4K, w/Wire Sleeve, Genuine Dexter Only

Brake Magnet, 12.25”x2.5”, Red Wire, 7.2K, Universal Fit

Brake Magnet, 12.25”x3-3/8”, White Wire, Oval, 8K, Universal Fit

Brake Vent Magnet, 12”x3.38” & 12.25”x3.5”, Hayes/AL-KO

Brake Magnet, 12.25”x3-3/8”, Yellow Wire, 9K-10K, Universal Fit

Brake Magnet, 12.25”x5”, Black Wire, Oval, 12K, Dexter

Brake Magnet, 12.25”x5”, Blue Wire, Oval, 15K, Dexter

Protective Magnet Wire Kit, 10”, 12”, 12.25”x2.5”, Dexter

REF #

193580

194000

194050

194200

195000

195050

195850

196650

196700

197100

197410

197430

197625

236500

ELECTRIC BRAKES

REPLACEMENT PARTS - MAGNET CLIPS

• Application For 10”-12.25” Electric Brake Assemblies

• Universal Fit For Lippert, Trailer Parts Pro, Dexter And Many Other Brands

PART #

BP19-001

BP19-005

DESCRIPTION

Brake Magnet Clip, 10” & 12”, Oval, Universal Fit (Qty 4)

Brake Magnet Clip, 12.25”, Universal Fit (Qty 4)

REF #

236502

236505

ELECTRIC BRAKES

B
R

A
K

E
 P

A
R

T
S



6

REPLACEMENT PARTS - ACTUATING ARMS

• OEM Replacement Brake Actuating Arms

• Universal Fit For Popular Brands Like Lippert, Dexter, Hayes/AL-KO And Trailer Parts Pro 

PART #

BP02-170

BP02-180

BP02-224

BP02-228

BP02-230

BP02-240

BP02-315

BP02-325

BP02-327

BP02-328

DESCRIPTION

Actuating Arm, 10”x2.25” Brakes, LH, Universal Fit

Actuating Arm, 10”x2.25” Brakes, RH, Universal Fit

Actuating Arm, 12”x2” Brakes, LH, After 1988, Hayes/AL-KO

Actuating Arm, 12”x2” Brakes, RH, After 1988, Hayes/AL-KO

Actuating Arm, 12”x2” Brakes, LH, Universal Fit

Actuating Arm, 12”x2” Brakes, RH, Universal Fit

Actuating Arm, 12-1/4”x3-3/8” Brakes, LH, Universal Fit

Actuating Arm, 12-1/4”x3-3/8” Brakes, RH, Universal Fit

Actuating Arm Kit, 12-1/4”x3-3/8” Brakes, LH, Universal Fit

Actuating Arm Kit, 12-1/4”x3-3/8” Brakes, RH, Universal Fit

REF #

199800

200000

201225

201250

201400

201600

203300

203500

203550

203560

ELECTRIC BRAKES

ELECTRIC BRAKES

REPLACEMENT PARTS - BRAKE ADJUSTERS

• Universal Fit For Popular Brands Like Lippert, Dexter, Hayes/AL-KO And Trailer Parts Pro

• Each Package Contains 1 Replacement Adjuster

PART #

BP10-040

BP10-060

BP10-065

BP10-110

BP10-120

BP10-135

BP10-136

BP10-145

BP10-146

BP10-220

DESCRIPTION

Adjuster, 7”x1.25” Electric, Universal Fit

Adjuster, 10” & 12” Electric, Universal Fit

Adjuster & Spring, 10”-12” Electric, Universal Fit

Adjuster, 12”x3.38” & 12.25”x3.5” Electric, RH, Hayes/AL-KO

Adjuster, 12”x3.38” & 12.25”x3.5” Electric, LH, Hayes/AL-KO

Adjuster Lever & Spring, 12.25” Electric, LH, Universal Fit

Adjuster & Lever, 12.25” Electric w/Cast Back, 8K-15K, LH, Universal Fit

Adjuster Lever & Spring, 12.25” Electric, RH, Universal Fit

Adjuster & Lever, 12.25” Electric w/Cast Back, 8K-15K RH, Universal Fit

Adjuster Plug, 10” & 12” Electric, Universal Fit (Qty 4)

REF #

222000

222400

223965

223200

223400

223700

223710

223900

223910

225100

B
R

A
K

E
 P

A
R

T
S



7

REPLACEMENT PARTS - ADJUSTER SPRING

• OEM Replacement Adjuster Springs For Electric Brakes

• Universal Fit For Popular Brands Like Lippert, Dexter, Hayes/AL-KO And Trailer Parts Pro

• Works On Left Or Right Hand Drum Style Trailer Brake Applications

PART #

BP08-070

BP08-150

BP08-155

DESCRIPTION

Adjuster Spring, 10” & 12” Electric, Universal Fit

Adjuster Spring, 12.25” Electric, Old Style, Universal Fit

Adjuster Spring, 12.25” Electric, Cast Back Plate, Universal Fit

REF #

220000

220900

220910

ELECTRIC BRAKES

REPLACEMENT PARTS - BRAKE ADJUSTER CABLE

• Universal Fit For Forward Self Adjusting Electric Brakes

• For 8-10K Rated Capacities  

PART #

BP13-020

BP13-022

DESCRIPTION

Adjuster Cable, 12.25” Electric, 10.5” Long, Universal Fit

Adjuster Cable, 12.25” Electric, Cast Back, 10” Long, Universal Fit

REF #

225400

225402

ELECTRIC BRAKES

REPLACEMENT PARTS - BRAKE SPRINGS

• Universal Fit For Popular Brands Like Lippert, Dexter, Hayes/AL-KO, Demco And More

• Replacement For Electric Brake Applications

PART #

BP07-105

BP07-110

BP07-150

BP07-190

BP07-195

BP07-225

DESCRIPTION

Shoe Return Springs, 10” & 12” Electric, Universal Fit

Shoe Return Springs, 10”x2.25”, Single Spring, Hayes/AL-KO

Shoe Return Springs, 12”x2”, Electric, Single Spring, Universal Fit

Shoe Return Springs, 12.25”, Electric, Cast, Universal Fit

Shoe Center Springs, 12.25”, Electric, 7.2K-15K, Cast, Universal Fit

Shoe Return Springs, 12.25”, Electric, 1 Each Green/Black, Universal Fit

REF #

216625

216650

217400

218000

218100

218900

ELECTRIC BRAKES

B
R

A
K

E
 P

A
R

T
S



8

REPLACEMENT PARTS - SHOE HOLD DOWN KITS

• Application For 10”, 12”, & 12.25” Electric Brakes

• Includes Springs And Pins To Hold Brake Shoes And Linings In Place

• Universal Fit For Lippert, Dexter, Trailer Parts Pro, Demco And More

PART #

BP06-090

BP06-120

BP06-240

DESCRIPTION

Shoe Hold Down Kit, 12”x2” Electric (1 Wheel), Universal Fit

Shoe Hold Down Kit, 10”x2.25” Electric (1 Wheel), Universal Fit

Shoe Hold Down Kit, 12.25” Electric (1 Wheel), Universal Fit

REF #

212400

212500

214400

• OEM Replacement Adjuster Springs For Electric Brakes

• Universal Fit For Popular Brands Like Lippert, Dexter, Hayes/AL-KO And Trailer Parts Pro

• Works On Left Or Right Hand Drum Style Trailer Brake Applications

ELECTRIC BRAKES

REPLACEMENT PARTS - BRAKE DUST SHIELD

• Keeps Road Debris And Dust Off Brake Assembly

• Inhibits Brake Wear

• Universal Fit For Popular Brands Like Lippert, Dexter And Trailer Parts Pro

PART #

BP15-015

BP15-085

BP15-150

BP15-190

DESCRIPTION

Dust Shield, 4 Bolt, 8K, Electric, Universal Fit

Dust Shield, 7 Bolt, 9K-10K, General Duty, Electric, Universal Fit

Dust Shield, 7 Bolt, 10K, Electric, Universal Fit

Dust Shield, 7 Bolt, 12K-15K, Electric, Universal Fit

REF #

227700

229100

230300

231100

ELECTRIC BRAKES

B
R

A
K

E
 P

A
R

T
S



9

HYDRAULIC BRAKES

HYDRAULIC BRAKES

• Quality Hydraulic Brakes For Popular Brands Like Lippert, Dexter, Hayes/AL-KO And More

• Sizes From 7” Up To 12.25” With Standard Bolt Patterns

• Complete Assembly Ready To Bolt On And Wire

• Brake Options To Fit The Most Common Axle Weight Capacities 

REF #

188970

188975

188980

188985

188990

188995

189000

189005

189010

189015

189020

189025

PART #

HB01-070

HB01-075

HB01-100

HB01-105

HB01-120

HB01-125

HB01-130

HB01-135

HB01-140

HB01-145

HB01-150

HB01-155

DESCRIPTION

Hydraulic Brake Assembly, Single-Servo, 7”x1.75”, LH, 2.2K/PR, Universal Fit

Hydraulic Brake Assembly, Single-Servo, 7”x1.75”, RH, 2.2K/PR, Universal Fit

Hydraulic Brake Assembly, Free Back, 10”x2.25”, LH, 3.5K/PR, Dacromet, Universal Fit

Hydraulic Brake Assembly, Free Back, 10”x2.25”, RH, 3.5K/PR, Dacromet, Universal Fit

Hydraulic Brake Assembly, Free Back, 12”x2”, LH, 7K/PR, Dacromet, Universal Fit

Hydraulic Brake Assembly, Free Back, 12”x2”, RH, 7K/PR, Dacromet, Universal Fit

Hydraulic Brake Assembly, Duo-Servo, 12 1/4”x3 3/8”, LH, FSA, 8K/PR

Hydraulic Brake Assembly, Duo-Servo, 12 1/4”x3 3/8”, RH, FSA, 8K/PR

Hydraulic Brake Assembly, Duo-Servo, 12 1/4”x3 3/8”, LH, FSA, 9K-10K/PR

Hydraulic Brake Assembly, Duo-Servo, 12 1/4”x3 3/8”, RH, FSA, 9K-10K/PR

Hydraulic Brake Assembly, Duo-Servo, 12 1/4”x4”, LH, FSA, 10K/PR

Hydraulic Brake Assembly, Dexter, Duo-Servo, 12 1/4”x4”, RH, FSA, 10K/PR

REPLACEMENT PARTS - WHEEL CYLINDERS

• Wheel Cylinder Replacement Options For Single And Duo-Servo Hydraulic Brakes

• Fits Lippert, Dexter, Trailer Parts Pro, Demco And More

• For 10” & 12” Hydraulic Brakes

PART #

BP16-040

BP16-050

BP17-020

BP17-030

BP17-040

BP17-050

DESCRIPTION

Wheel Cylinder Rebuild Kit, 8K-9K, Pre 1989 (1” Bore), Universal Fit

Wheel Cylinder Rebuild Kit, 9K, After 1989 (1.25” Bore), Universal Fit

Wheel Cylinder, 10” & 12” Single-Servo, Right Hand, Universal Fit

Wheel Cylinder, 10” & 12” Single-Servo, Left Hand, Universal Fit

Wheel Cylinder, 12” Duo-Serve, Right Hand

Wheel Cylinder, 12” Duo-Serve, Left Hand

REF #

232400

232600

233200

233400

233600

233800

HYDRAULIC BRAKES

B
R

A
K

E
 P

A
R

T
S



10

REPLACEMENT PARTS - SHOE & LINING KIT

• Includes Brake Shoe And Linings For 1 Wheel

• Fits Lippert, Dexter, Trailer Parts Pro, Demco, And Many Other Brands

• For Hydraulic Brake Applications 

• Replacements For 2.5K Through 12K Capacity

DESCRIPTION

Shoe & Lining, 7”x1.75”, Hydraulic, 1 Wheel, 2.5K, Universal Fit

Shoe & Lining, 10”x2.25”, 1 Wheel, 3.5K, Universal Fit

Shoe & Lining, 10”x2.25”, Free Back, 1 Wheel, 3.5K, Universal Fit

Shoe & Lining, Demco & DICO, 10”x2.25”, Free Back, 1 Wheel

Shoe & Lining, Hydraulic, 1 Wheel, 5.2K/7K, Universal Fit

Shoe & Lining, 12”x2”, RH, Free Back, 1 Wheel, 5.2K/7K, Universal Fit

Shoe & Lining, 12”x2”, LH, Free Back, 1 Wheel, 5.2K/7K, Universal Fit

Shoe & Lining, 12.25”x3-3/8”, LH, Hydraulic, 1 Wheel, 8K, Universal Fit

Shoe & Lining, 12.25”x3-3/8”, RH, Hydraulic, 1 Wheel, 8K, Universal Fit

Shoe & Lining, 12.25”x4”, LH, Hydraulic, 1 Wheel, 10K, Universal Fit

Shoe & Lining, 12.25”x4”, RH, Hydraulic, 1 Wheel, 10K, Universal Fit

Shoe & Lining, 12.25”x5”, LH, Hydraulic, 1 Wheel, 12K, Universal Fit

Shoe & Lining, 12.25”x5”, RH, Hydraulic, 1 Wheel, 12K, Universal Fit

PART #

BP04-050

BP04-120

BP04-123

BP04-126

BP04-160

BP04-162

BP04-164

BP04-260

BP04-270

BP04-340

BP04-350

BP04-380

BP04-390

REF #

204700

205800

205810

205815

206000

206100

206200

208600

208800

210000

210200

210800

211000

HYDRAULIC BRAKES

B
R

A
K

E
 P

A
R

T
S



11

REPLACEMENT PARTS - BRAKE ADJUSTERS

• Brake Repair Adjusters For Popular Brands Like Lippert, Dexter, Hayes/AL-KO, Trailer 

Parts Pro And More

• Each Package Contains 1 Replacement Adjuster

PART #

BP10-045

BP10-060

BP10-065

BP10-080

BP10-135

BP10-145

BP10-150

BP10-160

BP10-220

DESCRIPTION

Adjuster, 7” & 12” Hydraulic, Universal Fit

Adjuster, 10” Hydraulic, Universal Fit

Adjuster & Spring, 10” Hydraulic, 1 Wheel, Universal Fit

Adjuster, 12.25”x3.5” Hydraulic, Universal Fit

Adjuster Lever & Spring, 12.25” Hydraulic, LH, Universal Fit

Adjuster Lever & Spring, 12.25” Hydraulic, RH, Universal Fit

Adjuster Kit, 12.25” Hydraulic, LH, FSA, Universal Fit

Adjuster Kit, 12.25” Hydraulic, RH, FSA, Universal Fit

Adjuster Plug, 10” & 12” Hydraulic, Universal Fit (Qty 4)

REF #

222100

222400

223965

222800

223700

223900

223950

223960

225100

HYDRAULIC BRAKES

REPLACEMENT PARTS - ADJUSTER SPRING

• OEM Replacement Adjuster Springs For Hydraulic Brakes

• Fits Brands Like Lippert, Dexter, Hayes/AL-KO And Trailer Parts Pro 

• Works On Left Or Right Hand Drum Style Trailer Brake Applications

PART #

BP08-080

BP08-120

BP08-150

DESCRIPTION

Adjuster Spring, 10” Hydraulic, Universal Fit

Adjuster Spring, 12.25” Hydraulic, Universal Fit

Adjuster Spring, 12.25” Hydraulic, Old Style, Universal Fit

REF #

220200

220400

220900

HYDRAULIC BRAKES

REPLACEMENT PARTS - BRAKE SPRINGS

• Fits Popular Brands Like Lippert, Dexter, Hayes/AL-KO, Demco And More

• Replacement For Hydraulic Brake Applications

PART #

BP07-121

BP07-175

BP07-240

DESCRIPTION

Shoe Return Springs Set, 12”x2”, Hydraulic Freebacking, Universal Fit

Shoe Return Springs, 12”x2” Hydraulic, Universal Fit

Shoe Return Springs, 12.25”, Hydraulic, Universal Fit

REF #

216830

217700

219200

HYDRAULIC BRAKES

B
R

A
K

E
 P

A
R

T
S



12

HYDRAULIC DISC BRAKE PADS

• Fits Dexter And Hayes/AL-KO 10-12K Axles

• Quantity - 1 Pad Set For 1 Wheel 

PART #

BP04-395

BP04-400

DESCRIPTION

Disc Brake Pad, Dexter, 10K & 12K Brakes, 1 Wheel

Disc Brake Pad, Hayes/AL-KO, 10K & 12K Brakes, 1 Wheel

REF #

211100

211200

REPLACEMENT PARTS - SHOE HOLD DOWN KITS

• Application For 10”, 12” & 12.25” Hydraulic Brakes

• Included Springs And Pins To Hold Brake Shoes And Linings In Place

• Fits Lippert, Dexter, Trailer Parts Pro, Demco, And Most Other Brands

PART #

BP06-090

BP06-120

BP06-235

DESCRIPTION

Shoe Hold Down Kit, 12”x2” Hydraulic, 1 Wheel, Universal Fit

Shoe Hold Down Kit, 10”x2.25” Hydraulic, 1 Wheel

Shoe Hold Down Kit, 12.25” Hydraulic, 1 Wheel, Universal Fit

REF #

212400

212500

214300

HYDRAULIC BRAKES

REPLACEMENT PARTS - BRAKE DUST SHIELD

• Keeps Road Debris And Dust Off Brake Assembly

• Inhibits Brake Wear

• For Popular Brands Like Lippert, Dexter And Trailer Parts Pro

PART #

BP15-015

BP15-085

BP15-150

BP15-190

DESCRIPTION

Dust Shield, 4 Bolt, 8K, Hydraulic, Universal Fit

Dust Shield, 7 Bolt, 9K-10K, General Duty, Hydraulic, Universal Fit

Dust Shield, 7 Bolt, 10K, Hydraulic, Universal Fit

Dust Shield, 7 Bolt, 12K-15K, Hydraulic, Universal Fit

REF #

227700

229100

230300

231100

HYDRAULIC BRAKES

B
R

A
K

E
 P

A
R

T
S



13

HYDRAULIC BRAKE LINE TRAILER KITS

• Complete Hydraulic Brake Line Kits For 1 Wheel

• Kit Contains All Necessary Hardware To Plumb Standard Hydraulic Brakes

• Use 80910-T For Axles With Limited Clearance Between Brake And Torsion Arm

• Kit Options For Both Single And Tandem Axle Trailers

PART #

80910

80910-T

BP18-120

BP18-125

DESCRIPTION

Hydraulic Line Kit, Torsion Axle (1 Wheel), Use w/9504 9505

Hydraulic Line Kit, Torsion Axle (1 Wheel) w/Limited Access

Hydraulic Brake Line Kit Rubber D.O.T. Hoses, Single

Hydraulic Brake Line Kit Rubber D.O.T. Hoses, Tandem

REF #

256550

256575

256530

256535

HYDRAULIC BRAKE LINES

• D.O.T Approved Hose

• Male To Female 

PART #

16196

310797

310798

DESCRIPTION

Hydraulic Flex Hose, 18.5”Long, 3/8”-24 M/F (3/16 Brake Line)

Hydraulic Flex Hose, 20.5” Long, 3/8-24 M/F (3/16 Brake Line)

Hydraulic Flex Hose, 19.5” Long, 7/16-24F x 7/16-20M (7/16-24=1/4 Brake Line)

REF #

261802

261805

261800

REPLACEMENT PARTS - CALIPERS & CALIPER REPAIR COMPONENTS

• Fits Popular Brands Like Dexter And Hayes/AL-KO Axles

• Application For 10-12K Disc Brakes

PART #

BP18-045

BP18-050

BP18-060

BP18-065

BP18-075

BP18-080

BP18-090

BP18-105

BP18-115

DESCRIPTION

Caliper, Dexter, 10K & 12K Disc Brakes

Caliper, Left Hand, Hayes/AL-KO, 10K & 12K Disc Brakes

Caliper, Right Hand, Hayes/AL-KO, 10K & 12K Disc Brakes

Caliper Piston, Dexter, 10K & 12K Disc Brakes

Caliper Rebuild Kit, Dexter, 10K-12K Disc Brakes

Caliper Rebuild Kit, Hayes/AL-KO, 10K-12K Disc Brakes

Pad Retainer, Hayes/AL-KO, 10K & 12K Disc Brakes

Caliper Retaining Bolts, Dexter, 10K-12K Disc Brakes, 5/8”x5”, 1 Wheel

Anti-Rattle Springs, Dexter, 10K-12K Disc Brakes, 1 Wheel

REF #

235425

235600

235800

235975

236050

236200

236400

236430

236460

HYDRAULIC BRAKES

B
R

A
K

E
 P

A
R

T
S



14

HYDRAULIC BRAKE LINE FITTINGS

• Hydraulic Line Fittings And Adapters For 3/16” And 1/4” Size Hydraulic Brake Line 
Connections

PART #

301-3

301-4

3057818

3057828

306-3

307-3

3087812

3087900

309801

309802

DESCRIPTION

Hydraulic Line Nut, 3/16” (Qty 8)

Hydraulic Line Nut, 1/4” (Qty 8)

Hydraulic Line Adapter, 3/16” F x 1/4” M (Qty 4)

Hydraulic Line Adapter, 1/4” F x 3/16” M (Qty 4)

Hydraulic Line Union, 3/16” (Qty 4)

Hydraulic Line Tee, 3/16” (Qty 2)

Axle Line Tee, 3/16” w/Bracket (Qty 2)

Hydraulic Service Tee, 3/16” (Qty 2)

Steel Hose Bracket for Hydraulic Brake Hoses (Qty 4)

Clip for 309801 Bracket (Qty 4)

REF #

257800

257900

259200

259250

258000

258200

262600

262625

262000

262200

AIR BRAKES

REPLACEMENT PARTS - AIR BRAKE SHOE & LINING KIT

• Fits Dexter Branded Air Brake Axles

• 1 Wheel Repair Kit (2 Shoe/Linings)

DESCRIPTION

S/L 12.25”x4” Air Brake Repair Kit, 1 Wheel, Old Style Dexter

S/L 12.25”x4” Air Brake Repair Kit, 1 Wheel,  PQ Dexter

S/L 12.25”x5” Air Brake Repair Kit, 1 Wheel, Old Style Dexter

S/L 12.25”x5” Air Brake Repair Kit, 1 Wheel, PQ Dexter

S/L 12.25”x7.5” Air Brake Repair Kit, 1 Wheel, PQ Dexter

PART #

BP22-011

BP22-017

BP22-021

BP22-027

BP22-037

REF #

243205

243210

243405

243220

243225

REPLACEMENT PARTS - CALIPERS & CALIPER REPAIR COMPONENTS

B
R

A
K

E
 P

A
R

T
S



15

HUB KITS

PRE-GREASED IDLER HUBS

• Ready-to-Install Hub Kits by Trailer Parts Pro

• Labor-Saving Pre-Greased, Pre-Installed Bearings, Races and Hub Seal

• Includes Standard and Grease-Lube Dust Caps, Wheel Nuts

• Fits Most Popular 2-7K Capacity Axles

REF #

105834

105835

106216

106217

106244

106245

106246

107049

107056

107429

107833

108229

108399

109811

110398

110399

DESCRIPTION

Pre-Greased Hub Kit, 2K, 4 on 4”, L44643 Bearings

Pre-Greased Hub Kit, 2K, 4 on 4”, L44649 Bearings

Pre-Greased Hub Kit, 2K, 5 on 4 1/2”, L44643 Bearings

Pre-Greased Hub Kit, 2K, 5 on 4 1/2”, L44649 Bearings

Pre-Greased Hub Kit, 2K, 5 on 4 1/2”, Galvanized, L44643 Bearings

Pre-Greased Hub Kit, 2K, 5 on 4 1/2”, Galvanized, L44649 Bearings

Pre-Greased Hub Kit, 6K, 6 on 5 1/2”, Galvanized, 25580/15123 Bearings

Pre-Greased Hub Kit, 3.5K, 5 on 4 1/2”, L68149/L44649 Bearings

Pre-Greased Hub Kit, 3.5K, 5 on 4 1/2”, Galvanized, L68149/L44649 Bearings

Pre-Greased Hub Kit, 3.5K, 5 on 4 3/4”, L68149/L44649 Bearings

Pre-Greased Hub Kit, 3.5K, 5 on 5”, L68149/L44649 Bearings

Pre-Greased Hub Kit, 3.5K, 5 on 5 1/2”, L68149/L44649 Bearings

Pre-Greased Hub Kit, 3.5K, 6 on 5 1/2”, L68149/L44649 Bearings

Pre-Greased Hub Kit, 6K, 6 on 5 1/2”, 25580/15123 Bearings

Pre-Greased Hub Kit, 7K, 8 on 6 1/2”, 14125A/25580 Bearings, 9/16” Studs

Pre-Greased Hub Kit, 7K, 8 on 6 1/2”, 14125A/25580 Bearings, 1/2” Studs

PART #

H34822BX

H34822BX-116

H34822545BX

H34822545BX-116

GVH34822545BX

GVH34822545BX-116

GVH42655BX

H84545BX

GVH84545BX

H845475BX

H84550BX

H84555BX

H84655BX

H42655BX

H42865BX-916

H42865BX

R
U

N
N

IN
G

 G
E

A
R



16

HUB/DRUM KITS

PRE-GREASED HUB/DRUM KITS

• Ready-to-Install Hub/Drum Kits by Trailer Parts Pro

• Labor-Saving Pre-Greased, Pre-Installed Bearings, Races and Hub Seal

• Includes Standard and Grease-Lube Dust Caps, Wheel Nuts

• Fits Most Popular 2-7K Capacity Axles

DESCRIPTION

Pre-Greased Hub/Drum Kit, 3.5K, 5 on 4 1/2”, L68149/L44649 Bearings

Pre-Greased Hub/Drum Kit, 3.5K, 5 on 4 3/4”, L68149/L44649 Bearings

Pre-Greased Hub/Drum Kit, 3.5K, 5 on 5”, L68149/L44649 Bearings

Pre-Greased Hub/Drum Kit, 3.5K, 5 on 5 1/2”, L68149/L44649 Bearings

Pre-Greased Hub/Drum Kit, 3.5K, 6 on 5 1/2”, L68149/L44649 Bearings

Pre-Greased Hub/Drum Kit, 6K, 6 on 5 1/2”, 25580/15123 Bearings

Pre-Greased Hub/Drum Kit, 7K, 8 on 6 1/2”, 14125A/25580 Bearings, 1/2” Studs

Pre-Greased Hub/Drum Kit, 7K, 8 on 6 1/2”, 14125A/25580 Bearings, 9/16” Studs

REF#

116629

116799

117199

117599

117999

119058

119823

119824

PART #

HD84546BX

HD845476BX

HD84556BX

HD84557BX

HD84656BX

HD42656BX

HD42866BX

HD42866BX-916

R
U

N
N

IN
G

 G
E

A
R



17

REPLACEMENT PARTS

BEARING PROTECTORS

• Protects Wheel Bearings From Contamination Of Water & Dirt By Providing & 
Maintaining A Positive Hub Seal.

• Zerk Fitting In Caps Allow Addition Of Grease To Hub Without Removing Dust Cap

• Convert Standard Grease Hubs With These Innovative Caps

PART #

RG07-040

RG07-045

RG07-050

DESCRIPTION

1.98” Bearing Protectors, 2” O.D. w/Covers (Qty 2)

Bearing Protector Cover, 2” O.D. Protectors (Qty 2)

2.44” Bearing Protectors w/ Covers (Qty 2)

REF #

414001

414002

414005

BEARING KITS

• All Of The Critical Service Parts In One Convenient Package

• Complete Bearing Kit For 1 Wheel 

• Contains Both Inner And Outer Races And Bearings

REF #

128611

128621

128614

128641

128644

128662

128664

128684

128686

128704

128706

128890

128893

128690

128691

128692

PART #

BK1-100

BK1-150

BK1-500

BK2-100

BK2-500

BK3-100

BK3-110

BK3-200

BK3-210

BK3-300

BK3-310

BK4-100

BK4-150

BK5-100

BK5-200

BK5-300

DESCRIPTION

Bearing Kit, 1” BT8 Spindle, L44643 Bearing, Grease Seal, 1 Wheel

Bearing Kit, 1.063” BTR Spindle, Double Lip, Grease Seal, 1 Wheel

Bearing Kit, UFP 2.1/2.5K Axles Using L44643 Bearings, Grease Seal, 1 Wheel

Bearing Kit, for 84 Spindle 1.063 -1.375, Double Lip, Grease Seal, 1 Wheel

Bearing Kit, UFP 3.2/3.7K Axles Using L44649/L68149 Bearings, Grease Seal, 1 Wheel

Bearing Kit, 15123/25580 Bearings, 10-36 Grease Seal, 1 Wheel

Bearing Kit, 15123/25580 Bearings, 10-10 Grease Seal 1 Wheel

Bearing Kit, 14125A/25580 Bearings, 10-36 Grease Seal, 1 Wheel

Bearing Kit, 14125A/25580 Bearings, 10-10 Grease Seal, 1 Wheel

Bearing Kit, LM67048/25580 Bearings, 10-36 Grease Seal, 1 Wheel

Bearing Kit, LM67048/25580 Bearings, 10-10 Grease Seal, 1 Wheel

Bearing Kit, 7.2K/8K Axles 25580/02475 Bearings, Grease Seal, 1 Wheel

Bearing Kit, 8K Axles 25580/02475 Bearings, Oil Seal, 1 Wheel

Bearing Kit, 9K-10GD  Axles 387A/25580 Bearings, Oil Seal, 1 Wheel

Bearing Kit, 10KHD Axles, 395S/387A Bearings, Oil Seal, 1 Wheel

Bearing Kit, 12K-16K Axles, 3984/28682 Bearings, Oil Seal, 1 Wheel

R
U

N
N

IN
G

 G
E

A
R



18

DUST/GREASE CAPS

• Protects Bearings From Grit And Grime

• Replacement Options For Standard, Zerk Lube Axles

PART #

RG04-010

RG04-020

RG04-040

RG04-060

RG04-080

RG04-100

RG04-120

REF #

150900

150905

150910

150915

150920

150925

150930

DESCRIPTION

Grease Cap Plug, Zerk Lube Grease Caps (Qty 2)

Grease Cap, 1.986” O.D. Drive In (Qty 2)

Grease Cap, 1.986” O.D. Drive In, Zerk Lube w/Plug (Qty 2)

Grease Cap, 2.44” O.D. Drive In (Qty 2)

Grease Cap, 2.44” O.D. Drive In, Zerk Lube w/Plug (Qty 2)

Grease Cap, 2.72” O.D. Drive In (Qty 2)

Grease Cap, 2.72” O.D. Drive In, Zerk Lube w/Plug (Qty 2)

GREASE/OIL SEALS

• Grease Seal For Standard And Zerk Lube Axles

• Features A Double Lip With Tension Spring To Seal Around Axle Spindle

• Provides A Better Seal And Greater Protects Bearings From Water And Dust

DESCRIPTION

12192TB Double Lip Seals, 1.979” O.D., 1.250” I.D. (Qty 2)

10-60 Double Lip Seals, 1.987” O.D., 1.5” I.D. (Qty 2)

10-19 Double Lip Seals, 2.565” O.D., 1.719” I.D. (Qty 2)

10-36 Double Lip Seals, 3.376” O.D., 2.25” I.D. (Qty 2)

10-10 Double Lip Seals, 3.376” O.D., 2.125” I.D. (Qty2)

REF #

157700

157710

157720

157730

157740

PART #

RG06-010

RG06-020

RG06-050

RG06-070

RG06-090
R

U
N

N
IN

G
 G

E
A

R



19

COMPLETE OIL CAP KITS

• Replacement Oil Cap Kits For Popular Lippert, Dexter, Hayes/AL-KO Axles

• Includes Cap, O-Ring, And Plug

PART #

RG04-230

RG04-250

RG04-260

RG04-270

RG04-280

RG04-300

RG04-320

RG04-340

DESCRIPTION

Oil Cap Kit, Dexter, 6K-9K,  8 Bolt

Oil Cap Kit, Hayes/AL-KO, 10K-16K

Oil Cap Kit, 6K-7K, Oil Hub & Drum, 5-Spoke

Oil Cap Kit, Dexter, 9K-10GD, 2-Piece Hub/Drum

Oil Cap Kit, Hayes/AL-KO, 8K, After 1997

Oil Cap Kit, Dexter, 9K-10GD, 1-Piece Hub/Drum

Oil Cap Kit, Lippert, 8K Axles, Clear 

Oil Cap Kit, Lippert, 10GD-16K Axles, Clear

REF #

150940

150945

150950

150955

150960

150957

150952

150954

SPINDLE NUT KITS

• Matching Spindle Nut Hardware For Various Washer And Lube Options

• Warning: Due To Variations In Spindle Designs, Matching Spindle Nut Hardware Is 
Required

PART #

RG05-020

RG05-040

RG05-060

RG05-080

RG05-100

RG05-110

RG05-120

RG05-130

DESCRIPTION

1”-14 Spindle Nut Kit, 2 Each w/Tongue Washer & Cotter Pin

1”-14 Spindle Nut Kit, 2 Each w/D-Washer & Cotter Pin

1”-14 Spindle Nut Kit, 2 Each w/Tang Washer, Old Style EZ

1”-14 Spindle Nut Kit, 2 Each w/Plain Washer & Cotter Pin

1”-14 Spindle Nut Kit, 2 Each w/Retainer, Dx Stud & EZ Lube

1”-14 Spindle Nut Kit, 2 Each w/D-Washer (5-57) & Cotter Pin, 8K

1 1/2”-12 Spindle Nut Kit, 1-Wheel, 9K/10GD Axles

1 3/4”-12 Spindle Nut Kit, 1-Wheel, 10KHD-16K Axle

REF #

163100

163110

163120

163130

163140

163141

163142

163143

R
U

N
N

IN
G

 G
E

A
R



20

WHEEL NUTS & WHEEL NUT LOCKS

• Popular Wheel Nuts For All Stud Sizes

PART #

RG01-020

RG01-040

RG01-060

RG01-080

RG01-100

RG01-120

RG01-150

RG01-200

DESCRIPTION

Rim Clamp, Mobile Home & Utility 14.5” Rims (Qty 5)

Wheel Nut, RH Thread, Hex, 9/16”x7/8” (Qty 5)

Wheel Nut, RH Thread, Cone, 60 Degree, 1/2”x13/16” (Qty 5)

Wheel Nut, RH Thread, Cone, 60 Degree, 9/16”x7/8” (Qty 4)

Wheel Nut, RH Thread, Cone, 90 Degree, 5/8”x1 1/16” (Qty 4)

Wheel Nut, RH Thread, Flanged, 5/8”x1 1/8” (Qty 4)

Wheel Lock Set, 1/2” Includes 2 Locks & 1 Key

Wheel Lock Set, 9/16” Includes 2 Locks & 1 Key

REF #

139900

139910

139920

139930

139940

139950

139980

139981

WHEEL BOLTS & STUDS

• OEM Quality Replacement Bolts & Studs 

• Universal Fit, Nuts Not Included

DESCRIPTION

Wheel Bolt, 1/2” Diameter, 13/16” Head, 7/8” Long, 60 Degree (Qty 4)

Wheel Bolt, 1/2” Diameter, 13/16” Head, 7/8” Long, 90 Degree (Qty 4)

Wheel Bolt, 9/16” Diameter, 7/8” Head, 1 1/8” Long, 90 Degree (Qty 4)

Drive In Stud, 1/2” Diameter, 1 1/2” Long (Qty 4)

Drive In Stud, 1/2” Diameter, 1 13/16” Long (Qty 4)

Drive In Stud, 1/2” Diameter, 1 7/8” Long (Qty 4)

Drive In Stud, 1/2” Diameter, 2 1/2” Long (Qty 4)

Drive In Stud, 5/8” Diameter, 3 1/8” Long (Qty 4)

Drive In Stud, 5/8” Diameter, 2 13/16” Long (Qty 4)

PART #

RG02-020

RG02-040

RG02-060

RG03-020

RG03-040

RG03-060

RG03-080

RG03-120

RG03-140

REF #

142900

142910

142920

144100

144110

144120

144130

144140

144150

R
U

N
N

IN
G

 G
E

A
R



21

SUSPENSION

SHACKLE STRAPS

• Available In 3 Different Lengths

• Shackle Straps Connect Double-Eye Leaf Spring To The Rear Hanger Or Equalizer On 
Trailer Suspension Systems Utilizing Double-Eye Springs

• Offered In Raw, Zinc And Galvanized Finishes

PART #

SP03-020

SP03-040

SP03-060

SP03-120

SP03-140

SP03-160

SP03-220

SP03-240

SP03-260

DESCRIPTION

Shackle Strap, 2 1/4” Hole Centers (Qty 4)

Shackle Strap, 2 5/8” Hole Centers (Qty 4)

Shackle Strap, 3 1/8” Hole Centers (Qty 4)

Shackle Strap, 2 1/4” Hole Centers, Galvanized (Qty 4) 

Shackle Strap, 2 5/8” Hole Centers, Galvanized (Qty 4) 

Shackle Strap, 3 1/8” Hole Centers, Galvanized (Qty 4) 

Shackle Strap, 2 1/4” Hole Centers, Zinc (Qty 4) 

Shackle Strap, 2 5/8” Hole Centers, Zinc (Qty 4) 

Shackle Strap, 3 1/8” Hole Center, Zinc (Qty 4) 

REF #

101550

101560

101570

101555

101565

101575

101580

101585

101590

PACKAGED U-BOLT KITS

• Replacement Leaf Spring Suspension Mounting Hardware To Replace One Side

• Nuts Are Included In U-Bolt Kits

• Warning: Never Reuse Your Original U-Bolts, Doing So Can Cause Fatigue And 
Stretching

PART #

SP01-020

SP01-040

SP01-060

SP01-080

SP01-100

SP01-120

SP01-140

SP01-160

DESCRIPTION

U-Bolt Kit, 1 3/4” Round Axle 3/8”x4 1/4” U-Bolts (Qty 2)

U-Bolt Kit, 2 3/8” Round Axle 1/2”x5 1/2” U-Bolts (Qty 2)

U-Bolt Kit, 3” Round Axle, 1/2”x7” U-Bolts (Qty 2)

U-Bolt Kit, 3” Round Axle, 9/16”x7 1/4” U-Bolts (Qty 2)

U-Bolt Kit, 3 1/2” Round Axle, 9/16”x8” U-Bolts (Qty 2)

U-Bolt Kit, 1 1/2” Square Axle, 1/2”x5” U-Bolts (Qty 2)

U-Bolt Kit, 1 3/4” Square Axle, 9/16”x5” U-Bolts (Qty 2)

U-Bolt Kit, 2” Square Axle, 9/16”x5 3/4”  U-Bolts (Qty 2)

REF #

071050

071060

071070

071080

071085

071090

071100

071110

R
U

N
N

IN
G

 G
E

A
R



22

SUSPENSION BOLTS & NUTS

• Replacement Nuts And Bolts For Standard Trailer Suspensions

• Suspension Bolt Attaches Leaf Spring To The Hangers Or Equalizers

REF #

094500

094505

094510

101595

101695

094515

094520

094530

DESCRIPTION

Shackle Bolts w/Nuts for 1.75” Spring, 9/16”x3” (Qty 4)

Shackle Bolts w/Nut & Zerk, 9/16”x3” (Qty 4)

Shackle Bolts w/Nuts for 2” Spring, 9/16”x3 1/2” (Qty 4)

Shackle Bolts w/Nuts For 1.75” Spring, 9/16”x3” Zinc (Qty 4)

Shackle Bolts w/Nuts For 2” Spring, 9/16”x3 1/2” Zinc (Qty 4)

Equalizer Bolt & Nut w/Zerk, Cotter Pin, 3/4”x3 1/2” (Qty 2)

Equalizer Bolt & Nut w/Cotter Pin, 7/8”x4 11/16”

Equalizer Bolt & Nut w/Zerk, 7/8”x4 11/16”

PART #

SP04-020

SP04-021

SP04-040

SP04-220

SP04-240

SP04-051

SP04-060

SP04-080

SUSPENSION BUSHINGS

• Replacement Spring Eye Bushings For Most Commonly Used Trailer Leaf Springs

PART #

SP05-020

SP05-040

SP05-060

SP05-080

REF #

103710

103720

103730

103740

DESCRIPTION

Nylon Bushing, 9/16” I.D. 11/16” O.D., 1 3/4” Long (Qty 8)

Nylon Bushing, 9/16” I.D. 11/16” O.D., 2” Long (Qty 8)

Nylon Bushing, 9/16” I.D. 3/4” O.D., 1 3/4” Long (Qty 6)

Nylon Bushing, 9/16” I.D. 1 5/16” O.D., 2” Long (Qty 4)

R
U

N
N

IN
G

 G
E

A
R



23

LIGHTING

LED STOP/TURN/TAIL LIGHTS

• Kits Contain Any Needed Grommets Or Pigtails

• FMVSS 108 Compliant When Installed Properly

• Limited Lifetime Warranty On The LED Diode

PART #

LT04-150

LT04-200

LT04-230

LT74-200

LT04-135

LT04-210

LT04-125

LT04-220

LT74-210

LT04-160

LT04-170

LT04-100

LT04-105

LT54-010

LT54-020

LT54-030

LT54-040

DESCRIPTION

LED, Stop/Turn/Tail, 10 Diodes, PL-3 Kit, 6” Oval

LED, Stop/Turn/Tail, Fleet, 6” Oval, Kit

LED, Stop/Turn/Tail, GloLight, Grommet Mount Kit, 6” Oval

LED, Stop/Turn/Tail, Made in USA Kit, 6” Oval

LED, Stop/Turn/Tail, Fleet, 6” Oval

LED, Stop/Turn/Tail, Fleet, 4” Round, Kit

LED, Stop/Turn/Tail, Fleet, 4” Round

LED, Stop/Turn/Tail, GloLight,  Grommet Mount Kit, 4” Round 

LED, Stop/Turn/Tail, Made in USA Kit, 4” Round

LED, Stop/Turn/Tail, Flange Surface Mount Kit, 6” Oval

LED, Stop/Turn/Tail, 10 Diodes, PL-3 Kit, 6” Oval

LED, Stop/Turn/Tail, 6” Square, Stud Mount

LED, Stop/Turn/Tail, 7” Square, Stud Mount

RV, LED, Stop/Turn/Tail, Passenger Side, White Base, Low Profile

RV, LED, Stop/Turn/Tail, Driver Side, White Base, Low Profile

RV, LED, Stop/Turn/Tail, Passenger Side, Black Base, Low Profile

RV, LED, Stop/Turn/Tail, Driver Side, Black Base, Low Profile

REF #

451849

451880

451861

451336

451832

451885

451831

451860

451335

451850

451851

451856

451857

RV0000072

RV0000073

RV0000074

RV0000075

E
L
E
C

T
R

IC
A

L



24

INCANDESCENT STOP/TURN/TAIL LIGHTS

• Available In Many Different Styles To Meet Size Restraints

• FMVSS 108 Compliant When Installed Properly

PART #

LT03-310

LT03-190

LT03-300

LT03-135

LT03-100

LT03-105

LT53-010

LT53-020

LT53-030

LT53-040

LT53-050

LT53-060

LT53-070

LT53-080

LT53-090

LT53-100

DESCRIPTION

Incandescent Kit, Stop/Turn/Tail, 6” Oval

Incandescent, Stop/Turn/Tail, 6” Oval

Incandescent Kit, Stop/Turn/Tail, 4” Round

Incandescent, Stop/Turn/Tail, 4” Round

Incandescent, Stop/Turn/Tail, 6 Function, Stud Mount, Under 80” 

Incandescent, Stop/Turn/Tail, 7 Function, Stud Mount, Under 80”

RV, Incandescent, Stop/Turn/Tail, Passenger Side, White Base

RV, Incandescent, Stop/Turn/Tail, Driver Side, White Base

RV, Incandescent, Stop/Turn/Tail, Passenger Side, Black Base

RV, Incandescent, Stop/Turn/Tail, Driver Side, Black Base

RV, Incandescent, Stop/Turn/Tail, Passenger Side, White Base, Back-Up

RV, Incandescent, Stop/Turn/Tail, Driver Side, White Base, Back-Up

RV, Incandescent, Stop/Turn/Tail, Passenger Side, White Base, Low Profile

RV, Incandescent, Stop/Turn/Tail, Driver Side, White Base, Low Profile

RV, Incandescent, Stop/Turn/Tail, Passenger Side, Black Base, Low Profile

RV, Incandescent, Stop/Turn/Tail, Driver Side, Black Base, Low Profile

REF #

451286

451265

451285

451264

451277

451278

RV0000062

RV0000063

RV0000064

RV0000065

RV0000066

RV0000067

RV0000068

RV0000069

RV0000070

RV0000071

E
L
E
C

T
R

IC
A

L



25

LED MARKER/CLEARANCE LIGHTS

• All Marker/Clearance Lights Meet FMVSS 108 Requirements When Installed Properly

• Kits Contain Any Needed Grommets Or Pigtails

• Limited Lifetime Warranty On The LED Diodes

PART #

LT02-240

LT02-235

LT72-240

LT72-235

LT02-305

LT02-300

LT72-305

LT72-300

LT02-025

LT02-020

LT02-355

LT02-350

LT72-355

LT72-350

LT02-035

LT02-030

LT02-230

LT02-220

LT02-250

LT02-245

LT02-210

LT02-200

LT02-110

LT52-020

LT52-010

LT52-040

LT52-030

DESCRIPTION

LED Kit, Red, Marker/Clearance, 3/4” Uni-Lite

LED Kit, Amber, Marker/Clearance, 3/4” Uni-Lite

LED Kit, Red, Marker/Clearance, 3/4” Uni-Lite, Made in USA

LED Kit, Amber, Marker/Clearance, 3/4” Uni-Lite, Made in USA

LED Kit, Red, Marker/Clearance, Fleet, 2” Round

LED Kit, Amber, Marker/Clearance, Fleet, 2” Round

LED Kit, Red, Marker/Clearance, 2” Round, Made in USA 

LED Kit, Amber, Marker/Clearance, 2” Round, Made in USA

LED, Red, Marker/Clearance, Fleet, 2” Round

LED, Amber, Marker/Clearance, Fleet, 2” Round

LED Kit, Red, Marker/Clearance, Fleet, 2.5” Round

LED Kit, Amber, Marker/Clearance, Fleet, 2.5” Round

LED Kit, Red, Marker/Clearance, 2.5” Round, Made in USA

LED Kit, Amber, Marker/Clearance, 2.5” Round, Made in USA

LED, Red, Marker/Clearance, Fleet, 2.5” Round

LED, Amber, Marker/Clearance, Fleet, 2.5” Round

LED Kit, Red, Marker/Clearance, Fleet, Mini Thinline

LED Kit, Amber, Marker/Clearance, Fleet, Mini Thinline 

LED Kit, Red, Marker/Clearance, Fleet, Thinline

LED Kit, Amber, Marker/Clearance, Fleet, Thinline

LED, Red, Marker/Clearance, Mini, Flange Mount, 2 Wire

LED, Amber, Marker/Clearance, Mini, Flange Mount, 2 Wire

LED, Amber, Marker/Clearance, Mini, Stud Mount

RV, LED, Red, Marker/Clearance, Oblong, w/Reflex, White Base

RV, LED, Amber, Marker/Clearance, Oblong, w/Reflex, White Base

RV, LED, Red, Marker/Clearance, Oblong, w/Reflex, Black Base

RV, LED, Amber, Marker/Clearance, Oblong, w/Reflex, Black Base

REF #

451749

451748

451341

451342

451758

451757

451339

451340

451702

451701

451764

451762

451337

451338

451722

451721

451746

451744

451756

451755

451742

451741

451740

RV0000059

RV0000058

RV0000061

RV0000060

E
L
E
C

T
R

IC
A

L



26

LIGHTING ACCESSORIES

• Harnesses And Grommets In A Variety Of Popular Sizes

PART #

LT06-350

LT06-355

LT06-360

LT06-365

LT05-400

LT05-650

LT05-600

LT09-010

DESCRIPTION

Accessory Grommet & Pigtail, 2” Round

Accessory Grommet & Pigtail, 2.5” Round

Accessory Grommet & Pigtail, 4” Round

Accessory Grommet & Pigtail, 6” Oval

Accessory License Plate Bracket, Steel Zinc Plated

Accessory Resistor Harness, for LED-PL3 Both Ends

Accessory Resistor Harness, for LED-PL3 to Blunt End

Quickee Wire Circuit Tester, 6 & 12 Volt

REF #

442702

442707

442751

442771

451129

443740

443739

491801

INCANDESCENT MARKER/CLEARANCE LIGHTS

• All Marker/Clearance Lights Meet FMVSS 108 Requirements When Installed Properly

PART #

LT01-025

LT01-020

LT01-035

LT01-030

LT01-175

LT01-170

LT01-155

LT01-150

LT01-210

LT01-200

LT01-050

LT51-010

LT51-020

LT51-030

LT51-040

DESCRIPTION

Incandescent, Red, Marker/Clearance, 2” Round

Incandescent, Amber, Marker/Clearance, 2” Round

Incandescent, Red, Marker/Clearance, 2.5” Round, Reflex Lens

Incandescent, Amber, Marker/Clearance, 2.5” Round, Reflex Lens

Incandescent Kit, Red, Marker/Clearance, Mini Thinline

Incandescent Kit, Amber, Marker/Clearance, Mini Thinline

Incandescent Kit, Red, Marker/Clearance, Thinline

Incandescent Kit, Amber, Marker/Clearance, Thinline

Incandescent, Red, Marker/Clearance, Dual Bulb, 1-Wire

Incandescent, Amber, Marker/Clearance, Dual Bulb, 1-Wire

Incandescent, Amber, Marker/Clearance, Stud Mount, Reflex

RV, Incandescent, Amber, Marker/Clearance, Oblong, w/Reflex White Base

RV, Incandescent, Red, Marker/Clearance, Oblong, w/Reflex White Base

RV, Incandescent, Amber, Marker/Clearance, Oblong, w/Reflex Black Base

RV, Incandescent, Red, Marker/Clearance, Oblong, w/Reflex Black Base

REF #

451194

451193

451208

451207

451226

451225

451219

451218

451215

451214

451210

RV0000054

RV0000055

RV0000056

RV0000057

E
L
E
C

T
R

IC
A

L



27

• Tag Lights Meet FMVSS 108 Requirements When Installed Properly (2 Required)

• Limited Lifetime Warranty On The LED Diodes

LED TAG LIGHTS

PART #

LT05-360

LT05-350

DESCRIPTION

LED License Plate Light, HD Chrome 5 Diodes

LED License Plate Light, Mini Chrome 2 Diodes

REF #

451155

451154

INCANDESCENT ID BAR LIGHTS

• ID Bars Are Required On Trailers Which Exceed 80” Wide

• Meets FMVSS 108 Requirements For Over 80” Wide Trailers When Installed Properly

PART #

LT01-310

LT01-300

DESCRIPTION

Incandescent Red ID Bar Poly Base, Over 80” 

Incandescent Red ID Bar Steel Base, Over 80”

REF #

451241

451240

PACKAGED LIGHT KITS 

• Kits Include Tail Lights And Wiring Needed For Installation

PART #

LT08-100

LT08-105

LT08-115

DESCRIPTION

LED Trailer Light Kit, Standard Mount, Under 80”, 20’ Harness

LED Trailer Light Kit, Marine Rectangular, 25’ Harness

Incandescent Trailer Light Kit, Stud Mount, Under 80”, 20’ Harness

REF #

451900

451910

451920

LED ID BAR LIGHTS

• ID Bars Are Required On Trailers Which Exceed 80” Wide

• Meets FMVSS 108 Requirements For Over 80” Wide Trailers When Installed Properly

• Limited Lifetime Warranty On The LED Diodes

PART #

LT01-350

LT01-360

LT01-370

DESCRIPTION

LED, Red, ID Bar, Fleet, Over 80” 

LED, Red, ID Bar, 9 Diodes, 1-Wire, Over 80” 

LED, Red, ID Bar, Ultrathin, 3 Diodes, Over 80” 

REF #

451245

451243

451247

E
L
E
C

T
R

IC
A

L



28

CONSPICUITY TAPE & REFLECTORS

• FMVSS 108 Compliant When Installed Properly

• Ideal For Trucks, Trailers, Tankers, Dump Trucks, Tow Trucks And Pickup Beds

PART #

LT07-115

LT07-130

LT77-110

LT77-115

LT77-120

LT77-125

DESCRIPTION

Reflector, Amber & Red, Oblong, Self Adhesive (Qty 2)

Conspicuity Tape, 11”Rx7”W 2”, 4 Strips 

Reflector, Amber & Red, Rectangle, Self Adhesive (Qty 2)

Reflector, Amber & Red, Round, Self Adhesive (Qty 2)

Reflector, Amber, Round, Surface Mount

Reflector, Red, Round, Surface Mount

REF #

451255

451801

451333

451332

451331

451330

INCANDESCENT TAG LIGHTS

• Standard Snap-In Tag Light

• Easy To Replace Bulbs

PART #

LT05-300

DESCRIPTION

Incandescent Light, 67 Bulb Chrome Snap-in

REF #

451152

INTERIOR & WORK LIGHTS

• High Quality Work Lights

• Easy To Replace Bulbs

DESCRIPTION

Incandescent Interior Dome Light w/Switch 1156 Bulb

Incandescent Worklight 5” Round, 5/16 Post Rubber House

LED Worklight 5” Round, 5/16 Post Rubber House

LED Utility 3/4” Uni-Lite

PART #

LT05-100

LT05-125

LT75-125

LT02-238

REF #

451136

451501

451334

440002

E
L
E
C

T
R

IC
A

L



29

ELECTRICAL

HARNESSES & CONNECTOR SYSTEMS

• Features One Step, One Piece Hookup

• Quick And Easy Install - No Cutting Or Splicing

PART #

37175

37185

TA01-025

TA01-020

TA01-060

TA01-110

TA01-100

TA01-125

TA01-120

TA01-050

DESCRIPTION

Multi-Tow, 6-Way Round & 4-Way Flat Vehicle End

Multi-Tow, 7-Way RV & 4-Way Flat Vehicle End

4-Way Flat Connector, Trailer End, 12” Wires

4-Way Flat Connector, Vehicle & Trailer Ends

4-Pole Round Chrome Connector, Vehicle & Trailer Ends

6-Way Zinc Die Cast Connector, Trailer End

6-Way Zinc Die Cast Connector, Vehicle End

7-Way Plastic RV Type Connector, Trailer End

7-Way Plastic RV Type Connector, Vehicle End

Trailer Harness, 4-Way Flat Connector, Vehicle & Trailer Ends, 12”

REF #

478610

478615

474060

474050

977100

474090

474080

474110

474100

474061

ADAPTERS

• Quick And Easy To Use - Install The Adapter Between The Trailer Cord And The Tow 
Vehicle Plug

DESCRIPTION

Adapter Plug, Converts 4-Way Flat To 6-Way Round

Adapter Plug, Converts 4-Way Flat to 7-Way RV

Trailer Connector Adapter, 6-Way Round to 4-Way Flat

Trailer Connector Adapter, 6-Way Round to 7-Way RV

Trailer Connector Adapter, 7-Way RV to 6-Way Round

Trailer Connector Adapter, 7-Way RV to 4-Way Flat

Trailer Connector Adapter, 7-Way RV to 5-Way Flat

Trailer Connector Adapter, 7-Way RV to 6-Way Round & 4-Way Flat

4-Way Flat Extension, 32”

REF #

481475

481500

478490

478495

478550

478500

478525

478555

480400

PART #

3065

3074

ADP624

ADP627RV

ADP726RV

ADP724RV

ADP725RV

ADP764RV

22715

E
L
E
C

T
R

IC
A

L



30

BREAKAWAY KITS

• Industry Leading Breakaway Kits

• Breakaway Kits Activate The Trailer Brakes Upon Separation From Tow Vehicle

• Legally Required In Most States And Provinces

PART #

BA10-140

BA10-150

DESCRIPTION

Breakaway Kit, w/Charger, 2 Piece Box, 5AH Battery, Switch

Engager Breakaway Kit, 5AH w/LED Charge Indicator

REF #

419229

419235

TAILLIGHT CONVERTERS

PART #

TLC510

TLC513

DESCRIPTION

Taillight Converter, 3-Wire To 2-Wire System, Molded 4-Flat

Taillight Converter for 2-Wire System, Molded 4-Flat

REF #

473500

473515

BREAKAWAY BATTERY

• These Premium AGM Batteries Are Designed To Operate In The Toughest Conditions

• Recommended To Replace Breakaway Components Every 3-5 Years

PART #

BA01-025

UB1250

DESCRIPTION

12V Battery, 5.0 Amp/Hr, Sealed, Packaged

12V Battery, 5.0 Amp/Hr, Sealed

REF #

419244

419246

BREAKAWAY KIT ACCESSORIES

• Replacement Components For Any Breakaway System

PART #

BA02-020

BA02-015

BA02-110

BA02-010

BA02-018

BA02-130

BA02-120

BA02-150

DESCRIPTION

12V Maintenance Charger for Breakaway Kits

Breakaway Switch for Trailer 12V Electric Brakes

Breakaway Switch LED w/44”Leads for BA10-150

Nylon Breakaway Switch w/Metal Bracket

Replacement Pin & Cable for BA02-015

Replacement Pin & Cable for BA10-150 After 2010

Replacement Pin & Cable for BA10-150 Pre 2010

Replacement Lid w/LED Charger for BA10-150, Pre 2019

REF #

419255

919700

419712

419250

919705

419711

419231

419237

E
L
E
C

T
R

IC
A

L



31

BRAKE CONTROL HARNESSES

• All In One Package - Everything Needed For A Proper Brake Controller Install

PART #

TA05-200

TA05-026

TA05-055

TA05-050

TA05-031

TA05-045

TA05-032

TA05-033

TA05-036

TA05-140

TA05-037

TA05-028

TA05-145

TA05-038

TA05-060

TA05-130

TA05-030

TA05-135

TA05-035

TA05-025

TA05-126

TA05-020

TA05-040

DESCRIPTION

Brake Control Conversion Plug, Hopkins to TPP Harness

Brake Control Harness, 03-07 Chevy/GMC Plug & Play

Brake Control Harness, 03-15 Toyota Plug & Play

Brake Control Harness, 04-15 Nissan Plug & Play

Brake Control Harness, 05-07 F250 & F350 SD Plug & Play

Brake Control Harness, 06-14 Honda Plug & Play

Brake Control Harness, 08-16 F250-F550 SD Plug & Play

Brake Control Harness, 09-19 F150/17-19 F250/F350 SD Plug & Play

Brake Control Harness, 10-12 Dodge Ram Plug & Play

Brake Control Harness, 11-14 Dodge Durango Plug & Play

Brake Control Harness, 13-14 Dodge Ram Plug & Play

Brake Control Harness, 14-18 Chevy/GMC 1500 Plug & Play

Brake Control Harness, 14-16 Jeep Cherokee Plug & Play

Brake Control Harness, 15-19 Dodge Ram Plug & Play

Brake Control Harness, 15-17 Toyota Tundra/16-17 Tacoma Plug & Play

Brake Control Harness, 94-04 F250/F350 & 94-08 F150

Brake Control Harness, 94-04 SD & 94-08 F150 Plug & Play

Brake Control Harness, 95-09 Dodge Ram & 97-11 Dakota

Brake Control Harness, 95-09 Dodge Ram Plug & Play

Brake Control Harness, 99-02 Chevy/GMC Plug & Play

Brake Control Harness, 99-07 Chevy/GMC 

Brake Control Install Kit, All Require Wire & Terminals

Side Post Battery Adapter Kit

REF #

417936

417903

417930

417925

417907

417920

417908

417909

417917

417913

417918

417912

417901

417914

417911

417906

417905

417916

417915

417902

417904

417900

417910

BRAKE CONTROLS

• Timed Brake Controls Are Easy To Install

• Straight Forward Operations Allow For Exceptional Towing Experience

PART #

TA1200

TA1000

DESCRIPTION

Brake Control, Digital 1-3 Axles, “Pilot”

Brake Control, 1-2 Axles, “Pod”

REF #

416296

416310

E
L
E
C

T
R

IC
A

L



32

JACKS

JACK REPLACEMENT PARTS

• Repair Parts To Fit Various Manufactures’ Designs

PART #

JP02-010

JP02-020

JP02-030

JP02-050

JP02-100

JP02-110

JP02-150

JP02-200

DESCRIPTION

Jack Crank Handle, Topwind, fits TPP, Fulton, Pro Series 2K-5K (Stamped)

Jack Crank Handle, Topwind, fits Bulldog & Ram 2K-5K (Wire Rod w/Knob, 7” Long)

Jack Crank Handle, Topwind, fits Bulldog & Ram 7K-8K (Wire Rod w/Knob, 8-1/2” Long)

Jack Foot with Pin, fits A-Frame Jacks 2K-5K

Pin & Chain, 9/16”, fits Bulldog & Ram, Pipe Mount Jacks

Pin & Chain, 5/8”, fits Bulldog & Ram, Pipe Mount Jacks, 7K

1/2” Plunger Pin Assembly Kit for Bulldog Swivel Jacks

Snap Ring, fits Most Swivel Jacks

REF #

266648

266666

266679

266560

266723

266740

266778

266828

JACKS 

• Universal Fit, OEM Quality at Competitive Prices

PART #

JP01-010

JP03-010

DESCRIPTION

Swivel Jack, Sidewind, 1.2K, 10” Lift, 6” Wheel

A-Frame Jack, Topwind, 2K, 14”Lift, 8” Bracket Height

REF #

264890

264700

J
A

C
K

S
/C

O
U

P
L
E

R
S



33

COUPLERS

COUPLER REPAIR KITS

• Repair Parts To Fit Various Manufactures’ Designs

PART #

CP02-045

CP02-055

WFH3RK

CP02-090

CP02-120

CP02-110

DESCRIPTION

Coupler Repair Kit, Class 1 (2,000lb), Ram 1 7/8” Ball

Coupler Repair Kit, Class 2 & 3 (3,500lb & 5,000lb), Ram 2” Ball

Coupler Repair Kit for 1 7/8” & 2” Yard Dog Couplers 

Coupler Repair Kit for Fulton 308 Coupler (Hand-Wheel Latch)

Pin & Chain for Bulldog Cast Couplers w/Collar-Release

Release Handle for Bulldog Couplers, High Profile 

REF #

264459

264472

264159

264514

264545

264534

COUPLERS

• Standard Couplers To Fit Many Applications

• OEM Quality at Competitive Prices

PART #

CP01-010

CP01-020

CP01-030

CP01-040

CP01-050

CP01-060

CP01-070

CP03-010

CP03-020

DESCRIPTION

Coupler, 1 7/8” Ball, 2” Straight Tongue, 2K, Zinc

Coupler, 1 7/8” Ball, 2.5” Straight Tongue, 2K, Zinc

Coupler, 1 7/8” Ball, 3” Straight Tongue, 2K, Zinc

Coupler, 2” Ball, 2” Straight Tongue, 3.5K, Zinc

Coupler, 2” Ball, 2.5” Straight Tongue, 3.5K, Zinc

Coupler, 2” Ball, 3” Straight Tongue, 3.5K, Zinc

Coupler, 2” Ball, 3” Straight Tongue, 5K, Zinc

A-Frame Coupler, 2” Ball, 5K, Primed

A-Frame Coupler, 2 5/16” Ball, 15K, Primed

REF #

262759

262816

262875

262979

263108

263234

263338

263450

263510

J
A

C
K

S
/C

O
U

P
L
E

R
S



TOWING ACCESSORIES

34

RECEIVER TUBE COVERS

• Chrome Or Black Covers Fit Standard 2” Receiver

PART #

TA06-125

TA06-100

DESCRIPTION

2” Receiver Tube Cover, Black

2” Receiver Tube Cover, Chrome

REF #

320245

320240

HITCH PINS

• Replacement Hitch Pins Available In Standard Or Locking

PART #

18-2058

HP12

HP583

DESCRIPTION 

Locking Hitch Pin, 5/8” for 2” or 2.5” Hitches

Receiver Hitch Pin, 1/2”x3” w/Keeper 

Receiver Hitch Pin, 5/8”x3” w/Keeper 

REF #

319810

319755

319750

BALL MOUNTS

• Ball Mounts Fit Standard 2” Receivers

• Rated To Be Used As A Standard Drop Or A Rise

PART #

BM01-285 

BM01-485

BM01-595

BM01-895

DESCRIPTION

Ball Mount, 2” Drop, 3/4” Rise, 8 1/4” Shank, 7.5K 

Ball Mount, 4” Drop, 2” Rise, 8 1/4” Shank, 7.5K

Ball Mount, 6” Drop, 4” Rise, 8 1/4” Shank, 7.5K

Ball Mount, 8” Drop, 6” Rise, 8 1/4” Shank, 5K

REF #

319003

319203

319403

319503

T
O

W
IN

G



35

HARDWARE

TRAILER CHAIN HARDWARE

• Industry Standard Links And Hooks

PART #

HW01-070

HW01-065

HW01-050

HW01-055

HW01-030

HW01-040

HW01-035

HW01-025

HW01-085

HW01-005

DESCRIPTION

Chain Quick Link, 3/8” (Qty 2)

Chain Quick Link, 5/16” (Qty 2)

Chain, Clevis Grab Hook 11.7K for 5/16” Chain

Chain, Clevis Grab Hook 16.2K for 3/8” Chain

Clevis Slip Hook, 1/4” w/Latch, 7,800lb Cap

Clevis Slip Hook, 3/8” w/Latch, 16,200lb Cap

Clevis Slip Hook, 5/16” w/Latch 11,700lb Cap

S-Hook, 3/8” Galvanized, 270lb Limit (Qty 2)

Snap Hook, 5/8” (Qty 2)

S-Hook for 3/16” Safety Chain (Qty 2)

REF #

398936

398934

398928

398930

398920

398924

398922

398918

398944

398910

TRAILER CHAIN

• Retail Ready Pre-Assembled Trailer Chain

PART #

HW02-110

HW02-100

DESCRIPTION

Trailer Chain Assembly, Grade 30, 1/4”x30”L, Two S-Hooks (Qty 2)

Trailer Chain Assembly, Grade 30, 3/16”x27”L, Two S-Hooks

REF #

398907

398906

H
A

R
D

W
A

R
E



36

U-BOLTS & HARDWARE

• Washers And Nuts Are Included In U-Bolt Kits

• Zinc Plated To Resist Corrosion

PART #

122185UB

381344UB

382144UB

382385UB

383384UB

7162184UB

7163183UB

7163184UB

7164183UB

DESCRIPTION

U-Bolt, Square, Zinc, 1/2”x2-1/8”x5-1/4” (Qty 2)

U-Bolt, Square, Zinc, 3/8”x1-3/4”x4” (Qty 2)

U-Bolt, Square, Zinc, 3/8”x2-1/4”x4-1/4” (Qty 2)

U-Bolt, Square, Zinc, 3/8”x2-3/8”x5-1/4” (Qty 2)

U-Bolt, Square, Zinc, 3/8”x3-3/8”x4-1/4” (Qty 2)

U-Bolt, Square, Zinc, 7/16”x2-1/8”x4” (Qty 2)

U-Bolt, Square, Zinc, 7/16”x3-1/8”x3” (Qty 2)

U-Bolt, Square, Zinc, 7/16”x3-1/8”x4” (Qty 2)

U-Bolt, Square, Zinc, 7/16”x4-1/8”x3” (Qty 2)

REF #

404760

404700

404705

404710

404715

404730

404735

404740

404745

TIE DOWN ATTACHMENTS

• Variety Of Different Tie Down Points

PART #

HW03-010

HW03-020

HW03-050

HW03-070

HW03-030

HW03-040

HW03-060

HW03-080

HW03-100

HW06-010

DESCRIPTION

Bolt-On Tie Loop, 1/2”x2” Round, Aluminum

D-Ring, Bolt-On, 1-1/8”x1-1/8” (Qty 2)

D-Ring, Bolt-On, 2-1/2”x3/8”, 1/2” 

Recessed D-Ring, 4-7/8”x4-1/2” Plate, 1-3/8” Ring

Recessed Rope Ring, 5”x3-1/2”, 3/8” Deep

Surface Mount Rope Ring, 4-1/4” Diameter, 1/4” Ring

Weld-On D-Ring w/Bracket 5/8”  Ring, 3”x3” I.D.

Weld-On Stake Pocket, 3-1/2”x1-5/8”

Folding Step/Handle, 2-1/8”x4-3/8”, Bolt-On

Marine Roller Shaft Nut, Zinc, 5/8” Shaft (Qty 4)

REF #

404021

404022

404025

404030

404023

404024

404026

404035

404050

407039

H
A

R
D

W
A

R
E



37

UNDERBODY TOOLBOX WITH T-HANDLE LATCH

• 14 Gauge Steel 

• Flush Mount Door 

• 1 Door Chain 

• Powder Coat Black Gloss Finish

PART #

TBG1416-24T

TBG1416-36T

TBG1818-24T

TBG1818-30T

TBG1818-36T

TBG1818-48T

TBG1818-60T

DESCRIPTION

Toolbox, Black, 14”H x 16”D x 24”W, 1 Handle

Toolbox, Black, 14”H x 16”D x 36”W, 1 Handle

Toolbox, Black, 18”H x 18”D x 24”W, 1 Handle

Toolbox, Black, 18”H x 18”D x 30”W, 1 Handle

Toolbox, Black, 18”H x 18”D x 36”W, 1 Handle

Toolbox, Black, 18”H x 18”D x 48”W, 1 Handle

Toolbox, Black, 18”H x 18”D x 60”W, 2 Handle

REF #

351025

351026

351030

351031

351032

351033

351034

• Locking Stainless Steel T-Handle Latch

• Neoprene Door Seal 

• Stainless Steel Continuous Hinge 

UNDERBODY TOOLBOXES

• .072 Treadplate Aluminum 

• Flush Mount Door 

• 2 Door Chains

PART #

TBAL1818-24T

TBAL1818-30T

TBAL1818-36T

TBAL1818-48T

TBAL1818-60T

DESCRIPTION

Toolbox, Aluminum, 18”H x 18”D x 24”W, 1 Handle

Toolbox, Aluminum, 18”H x 18”D x 30”W, 1 Handle

Toolbox, Aluminum, 18”H x 18”D x 36”W, 1 Handle

Toolbox, Aluminum, 18”H x 18”D x 48”W, 1 Handle

Toolbox, Aluminum, 18”H x 18”D x 60”W, 2 Handle

REF #

351010

351011

351012

351013

351014

• Locking Stainless Steel T-Handle Latch

• Neoprene Door Seal 

• Stainless Steel Continuous Hinge 

H
A

R
D

W
A

R
E



38

DESCRIPTION

Toolbox, Black, 14”H x 16”D x 24”W, 1 Handle

Toolbox, Black, 14”H x 16”D x 36”W, 1 Handle

Toolbox, Black, 18”H x 18”D x 24”W, 1 Handle

Toolbox, Black, 18”H x 18”D x 30”W, 1 Handle

Toolbox, Black, 18”H x 18”D x 36”W, 1 Handle

Toolbox, Black, 18”H x 18”D x 48”W, 1 Handle

Toolbox, Black, 18”H x 18”D x 60”W, 2 Handle

DESCRIPTION

Toolbox, Aluminum, 18”H x 18”D x 24”W, 1 Handle

Toolbox, Aluminum, 18”H x 18”D x 30”W, 1 Handle

Toolbox, Aluminum, 18”H x 18”D x 36”W, 1 Handle

Toolbox, Aluminum, 18”H x 18”D x 48”W, 1 Handle

Toolbox, Aluminum, 18”H x 18”D x 60”W, 2 Handle

UNDERBODY TOOLBOX WITH ANCHOR LATCH

• 14 Gauge Steel 

• Flush Mount Door 

• 2 Door Chains 

• Powder Coat Black Gloss Finish

• Locking Stainless Steel T-Handle Latch

• Neoprene Door Seal 

• Stainless Steel Continuous Hinge 

PART #

TBG1416-24A

TBG1416-36A

TBG1513-24A

TBG1513-30A

TBG1513-36A

TBG1818-24A

TBG1818-30A

TBG1818-36A

TBG1818-48A

TBG1818-60A

DESCRIPTION

Toolbox, Black, 14”H x 16”D x 24”W, 1 Handle

Toolbox, Black, 14”H x 16”D x 36”W, 1 Handle

Toolbox, Black, 15”H x 13”D x 24”W, 1 Handle

Toolbox, Black, 15”H x 13”D x 30”W, 1 Handle

Toolbox, Black, 15”H x 13”D x 36”W, 1 Handle

Toolbox, Black, 18”H x 18”D x 24”W, 1 Handle

Toolbox, Black, 18”H x 18”D x 30”W, 1 Handle

Toolbox, Black, 18”H x 18”D x 36”W, 1 Handle

Toolbox, Black, 18”H x 18”D x 48”W, 1 Handle

Toolbox, Black, 18”H x 18”D x 60”W, 2 Handle

REF #

351040

351041

351042

351043

351044

351045

351046

351047

351048

351049

LATCHES & HANDLES

• Standard Sizes Of Paddle Latches Available For Toolboxes And Other Doors

PART #

HW05-090

HW05-050

HW05-040

HW05-010

HW05-020

HW05-060

HW05-150

CDLAT

DESCRIPTION

Door Hold Back, Metal 2 Piece Hook & Keeper

Flush Latch, Plain Finish, Locking

Junior Flush Latch, Stainless Steel Finish, Locking

Locking “L” Handle for Cab Locks, 5/16” Square Shaft

Locking “T“ Handle for Cab Locks, 5/16” Square Shaft

“T” Handle Latch, Stainless Steel Finish, Locking

Anchor Compression Latch for Underbody Toolboxes

Replacement Latch Assembly for Camper Doors with 2 Keys

REF #

376976

376968

376966

376961

376962

376970

376977

355250

H
A

R
D

W
A

R
E



39

TORX PRODUCTS

• Self-Tapping T30 Torx Floor Screws For Treated (ACQ) Or Un-Treated Decks

PART #

TF01-150

TF01-225

TF01-250

TF02-150

TF02-225

TF02-250

TX430-3

TX450

DESCRIPTION

Floor Screw, Torx Head 1/4”x1.50” (Qty 40)

Floor Screw, Torx Head 1/4”x2.25” (Qty 40)

Floor Screw, Torx Head 1/4”x2.50” (Qty 40)

Floor Screw, ACQ, Torx Head 1/4”x1.50” (Qty 40)

Floor Screw, ACQ, Torx Head 1/4”x2.25” (Qty 40)

Floor Screw, ACQ, Torx Head 1/4”x2.50” (Qty 40)

Screw Driver Bit for Torx Head T30 (Qty 3)

TorxBit Kit w/ 7/32” Drill Bit, Bit Holder, and T30 TorxBit

REF #

386250

386450

386650

386251

386451

386599

489205

489244

SPARE TIRE CARRIERS

• Spare Tire Carriers Fit Standard Trailer Bolt Patterns

PART #

6220

6280

DESCRIPTION

Spare Tire Carrier for 4 & 5 Bolt Wheel

Spare Tire Carrier for 4 & 5 Bolt Wheel with Padlock

REF #

6220

6280

H
A

R
D

W
A

R
E



STORE KITS 
AVAILABLE FROM 
TRAILER PARTS PRO

FREE HEADER CARD 
WITH ANY TRAILER 
PARTS PRO STORE 
KIT PURCHASE!

40

by

BRAKE PARTSBRAKE PARTS

TOWINGTOWINGELECTRICALELECTRICAL

JACKS/COUPLERSJACKS/COUPLERS

HARDWAREHARDWARE

RUNNING GEARRUNNING GEAR

Check the color code to find your part quick and easy.

DESCRIPTION

Floor Screw, Torx Head 1/4”x1.50” (Qty 40)

Floor Screw, Torx Head 1/4”x2.25” (Qty 40)

Floor Screw, Torx Head 1/4”x2.50” (Qty 40)

Floor Screw, ACQ, Torx Head 1/4”x1.50” (Qty 40)

Floor Screw, ACQ, Torx Head 1/4”x2.25” (Qty 40)

Floor Screw, ACQ, Torx Head 1/4”x2.50” (Qty 40)

Screw Driver Bit for Torx Head T30 (Qty 3)

TorxBit Kit w/ 7/32” Drill Bit, Bit Holder, and T30 TorxBit

DESCRIPTION

Spare Tire Carrier for 4 & 5 Bolt Wheel

Spare Tire Carrier for 4 & 5 Bolt Wheel with Padlock



41

TRAILER PARTS PRO STORE KITS

TRAILER BRAKE PARTS STORE KIT

188860

188865

188890

188895

205201

206201

194000

195000

416430

416632

417900

419235

419244

419250

EB01-100

EB01-105

EB01-120

EB01-125

BP04-095

BP04-165

BP01-110

BP01-180

9030A

90160

TA05-020

BA10-150

BA01-025

BA02-010

ELECTRIC BRAKE 10”x2.25” LH, 3.5K PER PAIR

ELECTRIC BRAKE 10”x2.25” RH, 3.5K PER PAIR

ELECTRIC BRAKE 12”x2” LH, 6K-7K PER PAIR

ELECTRIC BRAKE 12”x2” RH, 6K-7K PER PAIR

BRAKE SHOE AND LINING, 10x2.25”, 3.5K

BRAKE SHOE AND LINING, 12x2”, 6K-7K

10”x2.25”, 3.5K MAGNET

12x2”, 6K-7K MAGNET

BRAKE CONTROL, TEKONSHA VOYAGER, 1-4 AXLES

BRAKE CONTROL, TEKONSHA, PRIMUS IQ, 1-3 AXLES

BRAKE CONTROL INSTALLATION KIT, ALL REQUIRED 
WIRE & TERMINALS INCLUDED 

“ENGAGER” BREAKAWAY KIT 5AMP BATTERY W/LED 
CHARGE INDICATOR

12V, 5AMP BATTERY SEALED

NYLON BREAKAWAY SWITCH W/METAL BRACKET

4

4

4

4

4

4

3

3

2

2

2

2

4 

4

TRAILER BRAKE PARTS STORE KIT: SK-BP

REF #

PACKAGED BRAKE ASSEMBLIES

PART # DESCRIPTION KIT QTY

SHOE AND LININGS FOR ELECTRIC BRAKES

ELECTRIC BRAKE MAGNETS

ELECTRIC BRAKE CONTROLS

BRAKE CONTROL HARNESS INSTALLATION KIT

BREAKAWAY KITS AND COMPONENTS

PICTURED ON PAGE 41



42

TRAILER RUNNING GEAR STORE KIT

REF #PART # DESCRIPTION KIT QTY

163120

163130

163140

414001

128611

128621

128641

128662

128684

128704

150900

150905

150910

150915

150920

150925

150930

157700

157710

157720

157730

157740

106216

105834

107049

107833

116629

119058

119823

RG05-060

RG05-080

RG05-100

RG07-040

BK1-100

BK1-150

BK2-100

BK3-100

BK3-200

BK3-300

RG04-010

RG04-020

RG04-040

RG04-060

RG04-080

RG04-100

RG04-120

RG06-010

RG06-020

RG06-050

RG06-070

RG06-090

H34822545BX

H34822BX

H84545BX

H84550BX

HD84546BX

HD42656BX

HD42866BX

BEARING KIT, 1” BT8 SPINDLE, L44643 OUTER/INNER BEARING WITH RACE, 
1.249 SEAL I.D.

BEARING KIT, 1.063” BTR SPINDLE, L44649 OUTER/INNER BEARING WITH 
RACE, 10-60 SEAL, 1.500 SEAL I.D.

BEARING KIT, 15123 OUTER AND 25580 INNER BEARINGS WITH RACE, 10-36 
SEAL, 2.250 SEAL I.D.

BEARING KIT, 15123 OUTER AND 25580 INNER BEARINGS WITH RACE, 10-36 
SEAL, 2.250 SEAL I.D.

BEARING KIT, 14125A OUTER AND 25580 INNER BEARINGS WITH RACE, 10-36 
SEAL, 2.250 SEAL I.D.

BEARING KIT, LM67048 OUTER AND 25580 INNER BEARINGS WITH RACE, 
10-36 SEAL, 2.250 SEAL I.D.

1”-14 SPINDLE NUT KIT, WITH TANG WASHER, OLD STYLE EZ LUBE (QTY 2)

1”-14 SPINDLE NUT KIT, WITH PLAIN WASHER AND COTTER PIN (QTY 2)

1”-14 SPINDLE NUT KIT, WITH RETAINER, DEXTER STANDARD & EZ LUBE (QTY 2)

1.98” BEARING PROTECTORS, 2” O.D. WITH COVERS, 1 PAIR

GREASE CAP PLUG, FOR EZ LUBE GREASE CAPS (QTY 2)

GREASE CAP, 1.986”O.D. DRIVE IN (QTY 2)

GREASE CAP, 1.986” O.D. EZ LUBE DRIVE IN WITH PLUG (QTY 2)

GREASE CAP, 2.44” O.D. DRIVE IN (QTY 2)

GREASE CAP, 2.44” O.D. EZ LUBE DRIVE IN WITH PLUG (QTY 2)

GREASE CAP, 2.72” O.D. DRIVE IN (QTY 2)

GREASE CAP, 2.72” O.D. EZ LUBE DRIVE IN WITH PLUG (QTY 2)

12192TB DOUBLE LIP SEALS 1.979” O.D., 1.250” I.D. (QTY 2)

10-60 DOUBLE LIP SEALS 1.987” O.D., 1.5” I.D. (QTY 2)

10-19 DOUBLE LIP SEALS 2.565” O.D., 1.719” I.D. (QTY 2)

10-36 DOUBLE LIP SEALS 3.376” O.D., 2.25” I.D. (QTY 2)

10-10 DOUBLE LIP SEALS 3.376” O.D., 2.125” I.D. (QTY 2)

BOXED HUB KIT H34822545 WITH L44643 BEARINGS

BOXED HUB KIT H34822 WITH L44643 BEARINGS

BOXED HUB KIT H84545BX WITH L44649 & L68149 BEARINGS

BOXED HUB KIT H84550 WITH L44649 & L68149 BEARINGS

STD & ZERK LUBED HUB-DRUM KIT 10”, 5 ON 4.5, L44649-L68149

STD & ZERK LUBED HUB-DRUM KIT 12”, 6 ON 5.5, 15123-25580BG

STD & ZERK LUBED HUB-DRUM KIT 12”, 8 ON 6.5, 14125A-25580B

3

3

3

3

4

2

4

2

2

2

4

3

2

2

2

2

2

4

2

4

4

3

2

2

2

2

2

2

2

WHEEL BEARING KITS (ALL KITS INCLUDE COTTER PIN & DOUBLE LIP GREASE SEALS ALLOWING KITS TO BE USED WITH 
STANDARD OR EZ LUBE SPINDLES)

REPLACEMENT HUBS

PACKAGED GREASE CAPS

SPINDLE NUT KITS AND BEARING PROTECTORS

PACKAGED GREASE SEALS

HUB AND DRUM KITS (NOT PICTURED IN PLAN-O-GRAM)

TRAILER RUNNING GEAR STORE KIT: SK-RG

PICTURED ON PAGE 41



Check the color code to find your part quick and easy.

4 Ft . Plan-O-Gram Includes:
• Trailer Brake Parts Store Kit 

PART#: SK-BP
• Trailer Running Gear Store Kit 

PART#: SK-RG

Exclusively 
Distributed by: TRAILER SUPPLIES

SM

43

TRAILER BRAKE PARTS & 
TRAILER RUNNING GEAR STORE KITS

FEATURES THE BEST SELLERS IN
THE TRAILER BRAKE AND 

RUNNING GEAR CATEGORIES!!

by

BRAKE PARTSBRAKE PARTS

TOWINGTOWINGELECTRICALELECTRICAL

JACKS/COUPLERSJACKS/COUPLERS

HARDWAREHARDWARE

RUNNING GEARRUNNING GEAR

Check the color code to find your part quick and easy.

FREE Trailer Parts Pro Header 
Card and Wall Banner!
(with Purchase of Store Kit)

by

BRAKE PARTS

HARDWARE

JACKS/COUPLERS

TOWING

ELECTRICAL

RUNNING GEAR

BRAKE PARTS

TOWING

ELECTRICAL

JACKS/COUPLERS

HARDWARE

RUNNING GEAR

PART#: BANNER-2448  |  Trailer Parts Pro Banner  
4-Grommets, 1-side, 24”x48”



44

TRAILER PARTS PRO LIGHTS AND 
ELECTRICAL STORE KIT

FEATURES THE BEST SELLERS IN THE TRAILER
LIGHTING AND ELECTRICAL CATEGORIES!

Exclusively 
Distributed by: TRAILER SUPPLIES

SM

4 Ft . Plan-O-Gram Includes:
• Trailer Parts Pro Lights and Electrical 

Store Kit - PART#: SK-EL
*Shelving not included

FREE Trailer Parts Pro Header 
Card and Wall Banner!
(with Purchase of Store Kit)

by

BRAKE PARTSBRAKE PARTS

TOWINGTOWINGELECTRICALELECTRICAL

JACKS/COUPLERSJACKS/COUPLERS

HARDWAREHARDWARE

RUNNING GEARRUNNING GEAR

Check the color code to find your part quick and easy.

by

BRAKE PARTS

HARDWARE

JACKS/COUPLERS

TOWING

ELECTRICAL

RUNNING GEAR

BRAKE PARTS

TOWING

ELECTRICAL

JACKS/COUPLERS

HARDWARE

RUNNING GEAR

PART#: BANNER-2448  |  Trailer Parts Pro Banner  
4-Grommets, 1-side, 24”x48”



45

TRAILER PARTS PRO LIGHTS AND ELECTRICAL STORE KIT

CLEARANCE/MARKER LIGHT, SEALED 2” ROUND AMBER

CLEARANCE/MARKER LIGHT, SEALED 2” ROUND RED

CLEARANCE/MARKER LIGHT, SEALED 2.5” AMBER ROUND WITH REFLECTIVE LENS

CLEARANCE/MARKER LIGHT, SEALED 2.5” RED ROUND WITH REFLECTIVE LENS

CLEARANCE/MARKER LIGHT, AMBER WITH REFLECTIVE LENS, STUD MOUNT, 
SQUARE BLACK BASE

CLEARANCE/MARKER LIGHT, AMBER, SEALED, 2 BULB, BLACK BRACKET & PLUG

CLEARANCE/MARKER LIGHT, RED, SEALED, 2 BULB, BLACK BRACKET & PLUG

CLEARANCE/MARKER LIGHT, AMBER, SEALED, CHROME BASE & PLUG

CLEARANCE/MARKER LIGHT, RED, SEALED, CHROME BASE & PLUG

CLEARANCE/MARKER LIGHT, AMBER, DUAL BULB, BLACK BASE

CLEARANCE/MARKER LIGHT, RED, DUAL BULB, BLACK BASE

ID BAR, 3-PIECE WHITE BAR, 50” WIRE, RED

ID BAR, 3-PIECE BLACK BAR, 50” WIRE, RED, WATERPROOF

LED ID BAR, 3-PIECE BLACK BAR, 50” LEAD WIRE

LED CLEARANCE/MARKER, SQUARE, AMBER, STUD MOUNT LIGHT

LED CLEARANCE/MARKER, AMBER, MINI SEALED WITH CHROME BASE

LED CLEARANCE/MARKER, RED, MINI SEALED WITH CHROME BASE

LED CLEARANCE/MARKER, AMBER, MINI THINLINE SEALED WITH BLACK BASE

LED CLEARANCE/MARKER, RED, MINI THINLINE SEALED WITH BLACK BASE

LED CLEARANCE/MARKER, AMBER, UNI-LITE .75” SEALED WITH BLACK GROMMET

LED CLEARANCE/MARKER, RED, UNI-LITE .75”SEALED WITH BLACK GROMMET

LED CLEARANCE/MARKER, AMBER, THINLINE SEALED WITH BLACK BASE & PLUG

LED CLEARANCE/MARKER, RED, THINLINE SEALED WITH BLACK BASE & PLUG

LED CLEARANCE/MARKER, AMBER, ROUND, 2” SEALED FLEET WITH GROMMET & PLUG

LED CLEARANCE/MARKER, RED, ROUND, 2” SEALED FLEET WITH GROMMET & PLUG

LED CLEARANCE/MARKER, AMBER, ROUND, 2.5” SEALED FLEET WITH GROMMET 
& PLUG

LED CLEARANCE/MARKER, RED, ROUND, 2.5” SEALED FLEET WITH GROMMET & PLUG

TAIL LIGHT UNIVERSAL, STUD MOUNT, 6-FUNCTION, NO LICENSE ILLUMINATOR, 
QUICK CONNECT

TAIL LIGHT UNIVERSAL, STUD MOUNT, 7-FUNCTION WITH LICENSE 
ILLUMINATOR, QUICK CONNECT

STOP/TURN/TAIL, 4” ROUND, RED, SEALED, FLUSH MOUNT WITH GROMMET

STOP/TURN/TAIL, 6” OVAL, RED, SEALED, FLUSH MOUNT WITH GROMMET

3

3

3

3

3

3

3

3

3

3

3

3

3

3

3

3

3

3

3

3

3

3

3

3

2

2

2

2

2

2

2

451740

451741

451742

451744

451746

451748

451749

451755

451756

451757

451758

451762

451764

451193

451194

451207

451208

451210

451218

451219

451225

451226

451214

451215

451240

451241

451245

451277

451278

451285

451286

LT02-110

LT02-200

LT02-210

LT02-220

LT02-230

LT02-235

LT02-240

LT02-245

LT02-250

LT02-300

LT02-305

LT02-350

LT02-355

LT01-020

LT01-025

LT01-030

LT01-035

LT01-050

LT01-150

LT01-155

LT01-170

LT01-175

LT01-200

LT01-210

LT01-300

LT01-310

LT01-350

LT03-100

LT03-105

LT03-300

LT03-310

INCANDESCENT STOP/TURN/TAIL LIGHTS

ID BARS

REF #

INCANDESCENT CLEARANCE/MARKER LIGHTS

PART # DESCRIPTION KIT QTY

LED CLEARANCE/MARKER LIGHTS

TRAILER PARTS PRO LIGHTS AND ELECTRICAL STORE KIT: SK-EL

PICTURED ON PAGE 42



46

478490

478495

478500

478525

478550

478555

478610

478615

451856

451857 

451880

451885

451255

481475

481500

480400

474050

474060

474080

474090

474100

474110

451136

451501 

451152

451129

451900

451910 

451920

451930

419235

ADP624

ADP627RV

ADP724RV

ADP725RV

ADP726RV

ADP764RV

37175

37185

LT04-100

LT04-105

LT04-200

LT04-210

LT07-115

3065

3074

22715

TA01-020

TA01-025

TA01-100

TA01-110

TA01-120

TA01-125

LT05-100

LT05-125

LT05-300

LT05-400

LT08-100

LT08-105

LT08-115

LT08-120

BA10-150

2

2

2

2

2

2

2

2

2

2

2

2

3

2

2

2

2

2

2

2

2

2

2

2

2

2

2

2

2

2

1

LED TAIL LIGHT, UNIVERSAL, UNDER 80” STUD MOUNT, 6 FUNCTION

LED TAIL LIGHT, UNIVERSAL, UNDER 80” STUD MOUNT, 7 FUNCTION

LED STOP/TURN/TAIL, 6” OVAL, RED, SEALED WITH GROMMET & PLUG

LED STOP/TURN/TAIL, 4” ROUND, RED, SEALED WITH GROMMET & PLUG

REFLECTOR, OBLONG, ADHESIVE MOUNT, 2 AMBER, 2 RED (4PC) 

TRAILER CONNECTOR ADAPTER, 6-WAY ROUND RECEPT TO FLAT 4

TRAILER CONNECTOR ADAPTER, 6-WAY ROUND TO 7-WAY RV

TRAILER CONNECTOR ADAPTER, 7-WAY RV RECEPT TO FLAT 4

TRAILER CONNECTOR ADAPTER, 7-WAY RV TO FLAT 5

TRAILER CONNECTOR ADAPTER, 7-WAY RV RECEPT TO 6-WAY ROUND

TRAILER CONNECTOR ADAPTER, 7-WAY RV TO 6-WAY & 4-WAY

MULTITOW 6-WAY & 4-WAY VEHICLE PLUG, PACKAGED

MULTITOW 7-WAY & 4-WAY VEHICLE PLUG, PACKAGED

UTILITY LIGHT, RECTANGLE, WEATHER PROOF, INTERIOR/EXTERIOR WITH SWITCH

UTILITY/TRACTOR LIGHT, 5” RUBBER HOUSING PLATED BLACK

UTILITY LIGHT, SNAP-IN DASH LIGHT LICENSE PLATE, CHROME

LICENSE PLATE BRACKET, ZINC PLATED STEEL

LED COMBO TAIL LIGHT KIT, WATERPROOF WITH HARNESS & BRACKET

LED TRAILER LIGHT KIT, MARINE WITH HARNESS & BRACKET

UTILITY TRAILER LIGHT KIT, INCANDESCENT WITH HARNESS & BRACKET

SUBMERSIBLE TRAILER KIT, INCANDESCENT LIGHTS ONLY

“ENGAGER” BREAKAWAY KIT, 5AH WITH LED CHARGE INDICATOR

ADAPTER PLUG, CONVERTS 4-WAY FLAT TO 6-WAY ROUND

ADAPTER PLUG, CONVERTS 4-WAY FLAT TO 7-WAY RV

32” 4 WIRE FLAT MODULAR REPLACEMENT

4-POLE FLAT CONNECTOR, VEHICLE & TRAILER ENDS

4-POLE FLAT CONNECTOR, TRAILER END, 12” WIRES

6-POLE ZINC DIE CAST CONNECTOR, VEHICLE END

6-POLE ZINC DIE CAST CONNECTOR, TRAILER END

7-POLE PLASTIC RV TYPE CONNECTOR, VEHICLE END

7-POLE PLASTIC RV TYPE CONNECTOR, TRAILER END

LIGHT KITS

UTILITY LIGHTS AND ACCESSORIES

REF #

LED STOP/TURN/TAIL LIGHTS

PART # DESCRIPTION KIT QTY

REFLECTORS

ELECTRICAL TRAILER CONNECTOR ADAPTERS

BREAKAWAY KITS AND REPLACEMENT PARTS

ELECTRICAL TRAILER CONNECTORS



47

TRAILER PARTS PRO LED STORE KIT

LT02-355

LT02-350

LT02-230

LT02-220

LT02-240

LT02-235

LT01-400

LT04-200

LT04-150

LT04-230

LT04-210

LT04-220

LT08-105

LT04-170

LT04-160

LT05-400

LT04-100

LT04-105

LT08-100

LT07-130

LT01-350

LT01-360

LT01-370

LT02-305

LT02-300

LT02-250

LT02-245

LT02-110

LT02-210

LT02-200

LT05-350

LT05-360

LT07-115

LED RED CLEARANCE/MARKER 2.5” ROUND 

LED AMBER CLEARANCE/MARKER 2.5” ROUND 

LED RED CLEARANCE/MARKER MINI THINLINE

LED AMBER CLEARANCE/MARKER MINI THINLINE

LED RED CLEARANCE/MARKER 3/4” ROUND

LED AMBER CLEARANCE/MARKER 3/4” ROUND

LED RED STOP/TURN/TAIL STREAMLINE

LED RED STOP/TURN/TAIL 6” OVAL FLEET 

LED RED STOP/TURN/TAIL 6” OVAL STANDARD

LED RED STOP/TURN/TAIL 6” OVAL GLOLIGHT

LED RED STOP/TURN/TAIL 4” ROUND FLEET

LED RED STOP/TURN/TAIL 4” ROUND GLOLIGHT

LED LIGHT KIT MARINE RECTANGULAR

LED RED STOP/TURN/TAIL 6” OVAL SURFACE MOUNT

LED RED STOP/TURN/TAIL 6” OVAL SURFACE MOUNT GLOLIGHT

LICENSE PLATE BRACKET

LED RED STOP/TURN/TAIL STUD MOUNT 6 FUNCTION

LED RED STOP/TURN/TAIL STUD MOUNT 7 FUNCTION

LED TRAILER LIGHT KIT UNDER 80” STUD MOUNT

CONSPICUITY TAPE, 11”RX7”W (QTY 4)

LED RED ID BAR OVER 80” POLY

LED RED ID BAR OVER 80” METAL

LED RED ID BAR ULTRATHIN OVER 80”

LED RED CLEARANCE/MARKER 2” ROUND

LED AMBER CLEARANCE/MARKER 2” ROUND

LED RED CLEARANCE/MARKER THINLINE

LED AMBER CLEARANCE/MARKER THINLINE

LED AMBER CLEARANCE/MARKER STUD MOUNT

LED RED CLEARANCE/MARKER MINI

LED AMBER CLEARANCE/MARKER MINI

LED LICENSE PLATE LIGHT MINI CHROME

LED LICENSE PLATE LIGHT HD CHROME

REFLECTOR AMBER/RED OBLONG 2 PACK

2

2

2

2

4

4

3

2

2

2

2

2

1

3

3

5

1

1

1

10

3

3

3

2

2

2

2

2

3

3

3

2

4

451246

451880

451849

451861

451885

451860

451910

451851

451850

451129

451856

451857

451900

451801

451245

451243

451247

451758

451757

451756

451755

451764

451762

451746

451744

451749

451748

451740

451742

451741

451154

451155

451255

ROW 2 - LEFT TO RIGHT

ROW 1 - LEFT TO RIGHT

PART # DESCRIPTION KIT QTY

TRAILER PARTS PRO LED STORE KIT: SK-LED

ROW 4 - LEFT TO RIGHT

ROW 3 - LEFT TO RIGHT

ROW 5 - LEFT TO RIGHT

REF #

PICTURED ON PAGE 46



48

TRAILER PARTS PRO LED STORE KIT

by

BRAKE PARTSBRAKE PARTS

TOWINGTOWINGELECTRICALELECTRICAL

JACKS/COUPLERSJACKS/COUPLERS

HARDWAREHARDWARE

RUNNING GEARRUNNING GEAR

Check the color code to find your part quick and easy.

4 Ft . Plan-O-Gram Includes:
• Trailer Parts Pro LED Store Kit 

PART#: SK-LED
*Shelving not included

• Most popular trailer lighting for any repairs customers may need
• Great for any showroom
• Compact size is flexible to your available space
• Offers choices to your customer on the fastest moving lights
• Kit includes Grommet, Pigtail, Base and/or Chrome Bezel when needed

FREE Trailer Parts Pro Header 
Card and Wall Banner!
(with Purchase of Store Kit)

by

BRAKE PARTS

HARDWARE

JACKS/COUPLERS

TOWING

ELECTRICAL

RUNNING GEAR

BRAKE PARTS

TOWING

ELECTRICAL

JACKS/COUPLERS

HARDWARE

RUNNING GEAR

PART#: BANNER-2448  |  Trailer Parts Pro Banner  
4-Grommets, 1-side, 24”x48”

Exclusively 
Distributed by: TRAILER SUPPLIES

SM



49

TRAILER PARTS PRO USA LED LIGHTING STORE KIT

TRAILER PARTS PRO USA LED LIGHTING STORE KIT: SK-LEDUSA

REF #PART # DESCRIPTION KIT QTY

451335

451334

451336

451801

451339

451337

451341

451330

451333

451340

451338

451342

451331

451332

LT74-210

LT75-125

LT74-200

LT07-130

LT72-305

LT72-355

LT72-240

LT77-125

LT77-110

LT72-300

LT72-350

LT72-235

LT77-120

LT77-115

LED KIT RED STOP/TURN/TAIL 4” ROUND

LED WORK 5” ROUND, 5/16 POST RUBBER HOUSE

LED KIT RED STOP/TURN/TAIL 6” OVAL

CONSPICUITY TAPE, 11”RX7”W 2”STRIP (7 YEAR) 3M-983 (QTY 4)

LED KIT, RED MARKER/CLEARANCE 2” ROUND

LED KIT, RED MARKER/CLEARANCE 2.5” ROUND

LED KIT, RED MARKER/CLEARANCE 3/4”

REFLECTOR, RED OVAL, WITH ALUMINUM BRACKET

REFLECTOR, AMBER/RED RECTANGLE SELF ADHESIVE (QTY 2)

LED KIT, AMBER MARKER/CLEARANCE 2” ROUND

LED KIT, AMBER MARKER/CLEARANCE 2.5” ROUND

LED KIT, AMBER MARKER/CLEARANCE 3/4”

REFLECTOR, AMBER OVAL, WITH ALUMINUM BRACKET

REFLECTOR, AMBER/RED ROUND SELF ADHESIVE (QTY 2)

2

1

2

5

2

2

4

4

2

2

2 

4

4

2

TOP ROW - LEFT TO RIGHT

COLUMN 1 - TOP TO BOTTOM

COLUMN 2 - TOP TO BOTTOM

COLUMN 3 - TOP TO BOTTOM

PICTURED ON PAGE 48



50

TRAILER PARTS PRO 
USA LED LIGHTING STORE KIT

Plan-O-Gram Includes:
• Trailer Parts Pro 

USA LED Lighting Store Kit 
PART#: SK-LEDUSA
*Shelving not included

• Features the best selling Made in USA LED lighting
• These popular parts can be added to an existing lighting store kit or 

set up on their own as an end cap

FREE Trailer Parts Pro Header 
Card and Wall Banner!
(with Purchase of Store Kit)

by

BRAKE PARTS

HARDWARE

JACKS/COUPLERS

TOWING

ELECTRICAL

RUNNING GEAR

BRAKE PARTS

TOWING

ELECTRICAL

JACKS/COUPLERS

HARDWARE

RUNNING GEAR

PART#: BANNER-2448  |  Trailer Parts Pro Banner  
4-Grommets, 1-side, 24”x48”

Exclusively 
Distributed by: TRAILER SUPPLIES

SM

by

BRAKE PARTSBRAKE PARTS

TOWINGTOWINGELECTRICALELECTRICAL

JACKS/COUPLERSJACKS/COUPLERS

HARDWAREHARDWARE

RUNNING GEARRUNNING GEAR

Check the color code to find your part quick and easy.



51

TRAILER PARTS PRO HARDWARE STORE KIT

TRAILER PARTS PRO HARDWARE STORE KIT: SK-HDWE

404035
404700
404715
404730

489205

376961
376962
376966
376968

404050
376976
404030
404026

404705

404710

404760

404745

489244

376970
386250
386450
386650
386251
386451
386599

404021
404022
404023
404024
404025

398910
398918
398920
398922
398924

398928
398930
398944
398934
398936

398906
398907
412800
413000

2
2
2
2

2

2
2
2
2

2
2
2
2

2

2

2

2

2

2
2
2
2
2
2
2

2
2
2
2
2

2
2
2
2
2

2
2
2
2
2

2
2
2
2

WELD-ON STAKE POCKET, 3 1/2”X1 5/8”
U-BOLT, SQUARE ZINC, 3/8”X1 3/4”X4” LONG, INCL NYLON INSERT LOCKNUTS & FLAT WASHERS (QTY 2)
U-BOLT, SQUARE ZINC, 3/8”X3 3/8”X4 1/4” LONG, INCL NYLON INSERT LOCKNUTS & FLAT WASHERS (QTY 2)
U-BOLT, SQUARE ZINC, 7/16”X2 1/8”X4” LONG, INCLUDES NYLON INSERT LOCKNUTS AND FLAT 
WASHERS (QTY 2)
SCREW DRIVER BIT FOR TORX HEAD T30 (QTY 3)

LOCKING “L” HANDLE FOR CAB LOCKS, 5/16” SQUARE SHAFT
LOCKING “T “ HANDLE FOR CAB LOCKS, 5/16” SQUARE SHAFT
JUNIOR FLUSH LATCH, STAINLESS STEEL FINISH, LOCKING
FLUSH LATCH, PLAIN FINISH, LOCKING

FOLDING STEP/HANDLE, 2 1/8”X4 3/8”, BOLT-ON
DOOR HOLD BACK, METAL 2 PC HOOK & KEEPER
RECESSED D-RING 4 7/8”X4 1/2” PLATE, 1 3/8” RING
WELD-ON D-RING WITH BRACKET 5/8” RING, 3”X3” I.D.

U-BOLT, SQUARE ZINC, 3/8”X2 1/4”X4 1/4” LONG, INCLUDES NYLON INSERT LOCKNUTS & FLAT 
WASHERS (QTY 2)
U-BOLT, SQUARE ZINC, 3/8”X2 3/8”X5 1/4” LONG, INCLUDES NYLON INSERT LOCKNUTS & FLAT 
WASHERS (QTY 2)
U-BOLT, SQUARE ZINC, 1/2”X2 1/8”X5 1/4”LONG, INCLUDES NYLON INSERT LOCKNUTS & FLAT 
WASHERS (QTY 2)
U-BOLT, SQUARE ZINC, 7/16”X4 1/8”X3” LONG, INCLUDES NYLON INSERT LOCKNUTS & FLAT 
WASHERS (QTY 2)
TORX BIT KIT WITH DRILL BIT, BIT HOLDER, AND T30 TORX BIT

T-HANDLE LATCH STAINLESS STEEL FINISH, LOCKING
FLOOR SCREW, TORX HEAD 1/4”X1 1/2” (QTY 40) 
FLOOR SCREW, TORX HEAD 1/4”X2 1/4” (QTY 40)
FLOOR SCREW, TORX HEAD 1/4”X2 1/2” (QTY 40)
FLOOR SCREW, TORX HEAD 1/4”X1.50” FOR USE WITH ACQ TREATED WOOD (QTY 40)
FLOOR SCREW, TORX HEAD 1/4”X2.25” FOR USE WITH ACQ TREATED WOOD (QTY 40)
FLOOR SCREW, TORX HEAD 1/4”X2.50” FOR USE WITH ACQ TREATED WOOD (QTY 40)

BOLT-ON TIE LOOP, 1/2”X2” ROUND, ALUMINUM
D-RING, BOLT-ON, 1 1/8”X1 1/8” (QTY 2)
RECESSED ROPE RING, 5”X3 1/2”, 3/8” DEEP
SURFACE MOUNT ROPE RING, 4.25” DIAMETER, .25” RING
D-RING, BOLT-ON, 2 1/2”X3/8”, 1/2”

S-HOOK FOR 3/16” SAFETY CHAIN (QTY 2)
S-HOOK, 3/8” GALVANIZED, 270LB LIMIT (QTY 2)
CLEVIS SLIP HOOK, 1/4” WITH LATCH, 7800LB CAP
CLEVIS SLIP HOOK, 5/16” WITH LATCH, 11,700LB CAP
CLEVIS SLIP HOOK, 3/8” WITH LATCH, 16,200LB CAP

CHAIN, CLEVIS GRAB HOOK 11.7K FOR 5/16” CHAIN
CHAIN, CLEVIS GRAB HOOK 16.2K FOR 3/8” CHAIN
SNAP HOOK, 5/8” (QTY 2)
CHAIN QUICK LINK, 5/16” (QTY 2)
CHAIN QUICK LINK, 3/8” (QTY 2)

TRAILER CHAIN ASSEMBLY, GRADE 30, 3/16”X27” LONG, TWO S-HOOKS (QTY 2)
TRAILER CHAIN ASSEMBLY, GRADE 30, 1/4”X30” LONG, TWO S-HOOKS (QTY 2)
SPARE TIRE CARRIER WITHOUT LOCK
SPARE TIRE CARRIER FOR 4 & 5 BOLT WHEEL WITH PADLOCK

COLUMN 2 - TOP TO BOTTOM

COLUMN 7 - TOP TO BOTTOM

COLUMN 6 - TOP TO BOTTOM

COLUMN 5 - TOP TO BOTTOM

COLUMN 8 - TOP TO BOTTOM

BOTTOM SHELF - LEFT TO RIGHT

COLUMN 4 - TOP TO BOTTOM

COLUMN 3 - TOP TO BOTTOM

COLUMN 1 - TOP TO BOTTOM

HW03-080
381344UB
383384UB
7162184UB

TX430-3

HW05-010
HW05-020
HW05-040
HW05-050

HW03-100
HW05-090
HW03-070
HW03-060

382144UB

382385UB

122185UB

7164183UB

TX450

HW05-060
TF01-150
TF01-225
TF01-250
TF02-150
TF02-225
TF02-250

HW03-010
HW03-020
HW03-030
HW03-040
HW03-050

HW01-005
HW01-025
HW01-030
HW01-035
HW01-040

HW01-050
HW01-055
HW01-085
HW01-065
HW01-070

HW02-100
HW02-110
6220
6280

PART # DESCRIPTION KIT QTYREF #

PICTURED ON PAGE 50



52

TRAILER PARTS PRO 
HARDWARE STORE KIT

by

BRAKE PARTSBRAKE PARTS

TOWINGTOWINGELECTRICALELECTRICAL

JACKS/COUPLERSJACKS/COUPLERS

HARDWAREHARDWARE

RUNNING GEARRUNNING GEAR

Check the color code to find your part quick and easy.

Features the most popular trailer hardware and accessories for repair, including:
•  Trailer chain 
•  Chain hooks and D-Rings
•  Handles and latches
•  U-Bolts for accessory mounting and marine brackets
•  Spare tire carriers
•  Floor screws and floor screw driver bits

4 Ft . Plan-O-Gram Includes:
• Trailer Parts Pro Hardware Store Kit 

PART#: SK-HDWE
*Shelving not included

FREE Trailer Parts Pro Header 
Card and Wall Banner!
(with Purchase of Store Kit)

by

BRAKE PARTS

HARDWARE

JACKS/COUPLERS

TOWING

ELECTRICAL

RUNNING GEAR

BRAKE PARTS

TOWING

ELECTRICAL

JACKS/COUPLERS

HARDWARE

RUNNING GEAR

PART#: BANNER-2448  |  Trailer Parts Pro Banner  
4-Grommets, 1-side, 24”x48”

Exclusively 
Distributed by: TRAILER SUPPLIES

SM

KIT QTY



53

TRAILER PARTS PRO RUNNING GEAR AND SUSPENSION STORE KIT

TRAILER PARTS PRO RUNNING GEAR AND SUSPENSION STORE KIT: SK-RGSUSP

PART # DESCRIPTION KIT QTYREF #

ROW 3 -  LEFT TO RIGHT

ROW 1 - LEFT TO RIGHT

ROW 2 -  LEFT TO RIGHT

ROW 4 - LEFT TO RIGHT

ROW 5 - LEFT TO RIGHT

128611
128690
128893
128662
128684
150925
150915
150905

128641
128641
157740
157700
150900
150955
150957

128621
157720
157730
157710
163140
163120
163130
150940
150954

128704
128644
414001
094505
101585
101580
101590
150920
150910

103730
103720
103740
094515
094510
094520
094530
150930

071085
071080
071060
071070
071090
071100
071110
071050

BEARING KIT, 1” BT8 SPINDLE, L44643 OUTER/INNER BEARING WITH RACE, 1.249 SEAL I.D.
BEARING KIT, 9K-10GD AXLES 387A/25580 BEARINGS, OIL
BEARING KIT, 8K AXLES 25580/02475 BEARINGS, OIL
BEARING KIT, 15123 OUTER AND 25580 INNER BEARINGS W/ RACE, 10-36 SEAL, 2.250 SEAL I.D.
BEARING KIT, 14125A OUTER AND 25580 INNER BEARINGS W/ RACE, 10-36 SEAL, 2.250 SEAL I.D.
GREASE CAP, 2.72” O.D. DRIVE IN (QTY 2)
GREASE CAP, 2.44” O.D. DRIVE IN (QTY 2)
GREASE CAP, 1.986” O.D. DRIVE IN (QTY 2)

BEARING KIT, 15123 OUTER AND 25580 INNER BEARINGS WITH RACE, 10-36 SEAL, 2.250 SEAL I.D.
BEARING KIT, 15123 OUTER AND 25580 INNER BEARINGS WITH RACE, 10-36 SEAL, 2.250 SEAL I.D.
10-10 DOUBLE LIP SEALS, 3.376” O.D., 2.125” I.D. (QTY 2)
12192TB DOUBLE LIP SEALS, 1.979” O.D., 1.250” I.D. (QTY 2)
GREASE CAP PLUG, FOR EZ LUBE GREASE CAPS (QTY 2)
OIL CAP KIT, DEXTER 9K-10KGD 2-PIECE HUB/DRUM, 10K-15K
OIL CAP KIT, DEXTER 9K-10KGD 1-PIECE HUB/DRUM

BEARING KIT, 1.063” BTR SPINDLE, L44649 OUTER/INNER BEARING W/ RACE, 10-60 SEAL, 1.500 SEAL I.D.
10-19 DOUBLE LIP SEALS, 2.565” O.D., 1.719” I.D. (QTY 2)
10-36 DOUBLE LIP SEALS, 3.376” O.D., 2.25” I.D. (QTY 2)
10-60 DOUBLE LIP SEALS, 1.987” O.D., 1.5” I.D. (QTY 2)
1”-14 SPINDLE NUT KIT, WITH RETAINER, DEXTER STANDARD & EZ LUBE (QTY 2)
1”-14 SPINDLE NUT KIT, WITH TANG WASHER, OLD STYLE EZ LUBE (QTY 2)
1”-14 SPINDLE NUT KIT, WITH PLAIN WASHER AND COTTER PIN (QTY 2)
OIL CAP KIT, DEXTER 6K-9K (8 BOLT)
OIL CAP KIT, LIPPERT 10K-16K, CLEAR LEXAN

BEARING KIT, LM67048 OUTER AND 25580 INNER BEARINGS W/ RACE, 10-36 SEAL, 2.250 SEAL I.D.
BEARING KIT, UFP 3.2/3.7K AXLES L44649/L68149 BEARINGS
1.98” BEARING PROTECTORS, 2” O.D. WITH COVERS, 1 PAIR
SHACKLE BOLTS W/NUT & ZERK, 9/16”X3” (QTY 4)
SHACKLE STRAP, 2-5/8” HOLE CENTERS, ZINC (QTY 4) 
SHACKLE STRAP, 2-1/4” HOLE CENTERS, ZINC (QTY 4) 
SHACKLE STRAP, 3-1/8” HOLE CENTERS, ZINC (QTY 4) 
GREASE CAP, 2.44” O.D. EZ LUBE DRIVE IN WITH PLUG (QTY 2)
GREASE CAP, 1.986” O.D. EZ LUBE DRIVE IN WITH PLUG (QTY 2)

NYLON BUSHING, 9/16” I.D., 3/4” O.D., 1-3/4” LONG (QTY 6)
NYLON BUSHING, 9/16” I.D., 11/16” O.D., 2” LONG (QTY 8)
NYLON BUSHING, 9/16” I.D., 1-5/16” O.D., 2” LONG (QTY 4)
EQUALIZER BOLT & NUT WITH ZERK, COTTER PIN, 3/4”X3-1/2” (QTY 2)
SHACKLE BOLTS WITH NUTS FOR 2” SPRING, 9/16”X3-1/2” (QTY 4)
EQUALIZER BOLT & NUT WITH COTTER PIN, 7/8”X4-11/16”
EQUALIZER BOLT & NUT WITH ZERK PRESSED IN, 7/8”X4-11/16”
GREASE CAP, 2.72” O.D. EZ LUBE DRIVE IN WITH PLUG (QTY 2)

U-BOLT KIT, 3-1/2” ROUND AXLE, 9/16”X8” U-BOLTS (QTY 2)
U-BOLT KIT, 3” ROUND AXLE, 9/16”X7-1/4” U-BOLTS (QTY 2)
U-BOLT KIT, 2-3/8” ROUND AXLE, 1/2”X5-1/2” U-BOLTS (QTY 2)
U-BOLT KIT, 3” ROUND AXLE, 1/2”X7” U-BOLTS (QTY 2)
U-BOLT KIT, 1-1/2” SQUARE AXLE, 1/2”X5” U-BOLTS (QTY 2)
U-BOLT KIT, 1-3/4” SQUARE AXLE, 9/16”X5” U-BOLTS (QTY 2)
U-BOLT KIT, 2” SQUARE AXLE, 9/16”X5-3/4” (QTY 2)
U-BOLT KIT, 1-3/4” ROUND AXLE, 3/8”X4-1/4” U-BOLTS (QTY 2)

4
2
2
2
2
2
2
2

2
2
3
4
2
2
2

2
4
4
2
3
3
3
2
2

2
2
3
2
2
2
2
2
2

2
2
2
2
2
2
2
2

2
2
2
2
2
2
2
2

BK1-100
BK5-100
BK4-150
BK3-100
BK3-200
RG04-100
RG04-060
RG04-020

BK2-100
BK2-100
RG06-090
RG06-010
RG04-010
RG04-270
RG04-300

BK1-150
RG06-050
RG06-070
RG06-020
RG05-100
RG05-060
RG05-080
RG04-230
RG04-340

BK3-300
BK2-500
RG07-040
SP04-021
SP03-240
SP03-220
SP03-260
RG04-080
RG04-040

SP05-060
SP05-040
SP05-080
SP04-051
SP04-040
SP04-060
SP04-080
RG04-120

SP01-100
SP01-080
SP01-040
SP01-060
SP01-120
SP01-140
SP01-160
SP01-020

BOTTOM SHELF - LEFT TO RIGHT

PICTURED ON PAGE 52



54

TRAILER PARTS PRO RUNNING GEAR 
AND SUSPENSION STORE KIT

4 Ft . Plan-O-Gram Includes:
• Trailer Parts Pro Running Gear 

and Suspension Store Kit 
PART#: SK-RGSUSP
*Shelving not included

FREE Trailer Parts Pro Header 
Card and Wall Banner!
(with Purchase of Store Kit)

by

BRAKE PARTS

HARDWARE

JACKS/COUPLERS

TOWING

ELECTRICAL

RUNNING GEAR

BRAKE PARTS

TOWING

ELECTRICAL

JACKS/COUPLERS

HARDWARE

RUNNING GEAR

PART#: BANNER-2448  |  Trailer Parts Pro Banner  
4-Grommets, 1-side, 24”x48”

Exclusively 
Distributed by: TRAILER SUPPLIES

SM

Features the most popular trailer hardware and accessories for repair, including:
• Oil Caps
• Grease/Dust Caps
• Oil Seals
• Bearings

• Bearing Protectors
• Shackle Bolts
• Shackle Straps
• U-Bolts

by

BRAKE PARTSBRAKE PARTS

TOWINGTOWINGELECTRICALELECTRICAL

JACKS/COUPLERSJACKS/COUPLERS

HARDWAREHARDWARE

RUNNING GEARRUNNING GEAR

Check the color code to find your part quick and easy.

KIT QTY



55

RV PARTS PRO LIGHTS STORE KIT

ROW 5 - LEFT TO RIGHT

ROW 4 - LEFT TO RIGHT

ROW 3 - LEFT TO RIGHT

ROW 2 - LEFT TO RIGHT

ROW 1 - LEFT TO RIGHT

RV0000084

RV0000087

RV0000086

RV0000088

RV0000089

RV0000085

RV0000056

RV0000064

RV0000071

RV0000067

RV0000075

RV0000065

RV0000057

RV0000058

RV0000062

RV0000068

RV0000070

RV0000072

RV0000074

RV0000063

RV0000059

RV0000060

RV0000061

RV0000054

RV0000062

RV0000069

RV0000066

RV0000073

RV0000063

RV0000055

PORCH LIGHT SQUARE AMBER W/O SWITCH HARDWIRE (BULK)

PORCH LIGHT OVAL AMBER W/O SWITCH BLACK BASE (BULK)

PORCH LIGHT OVAL AMBER W/O SWITCH WHITE BASE (BULK)

PORCH LIGHT OVAL CLEAR W/ SWITCH WHITE BASE (BULK)

PORCH LIGHT OVAL CLEAR W/ SWITCH BLACK BASE (BULK)

PORCH LIGHT SQUARE CLEAR W/ SWITCH HARDWIRE (BULK)

CLEARANCE/MARKER OBLONG AMBER BLACK BASE 

INC STOP/TURN/TAIL, PASSENGER SIDE, BLACK BASE 

INC STOP/TURN/TAIL, DRIVER SIDE, BLACK BASE - LOW PROFILE

INC STOP/TURN/TAIL, DRIVER SIDE, WHITE BASE BACK-UP

LED STOP/TURN/TAIL, DRIVER SIDE, BLACK BASE - LOW PROFILE

INC STOP/TURN/TAIL, DRIVER SIDE, BLACK BASE

CLEARANCE/MARKER OBLONG RED BLACK BASE

LED CLEARANCE/MARKER OBLONG AMBER WHITE BASE

INC STOP/TURN/TAIL, PASSENGER SIDE, WHITE BASE 

INC STOP/TURN/TAIL, PASSENGER SIDE, WHITE BASE - LOW PROFILE

INC STOP/TURN/TAIL, PASSENGER SIDE, BLACK BASE - LOW PROFILE

LED STOP/TURN/TAIL, PASSENGER SIDE, WHITE BASE - LOW PROFILE

LED STOP/TURN/TAIL, PASSENGER SIDE, BLACK BASE - LOW PROFILE

INC STOP/TURN/TAIL, DRIVER SIDE, WHITE BASE

LED CLEARANCE/MARKER OBLONG RED WHITE BASE

LED CLEARANCE/MARKER OBLONG AMBER BLACK BASE

LED CLEARANCE/MARKER OBLONG RED BLACK BASE

CLEARANCE/MARKER OBLONG AMBER WHITE BASE

INC STOP/TURN/TAIL, PASSENGER SIDE, WHITE BASE

INC STOP/TURN/TAIL, DRIVER SIDE, WHITE BASE - LOW PROFILE

INC STOP/TURN/TAIL, PASSENGER SIDE, WHITE BASE, BACK-UP LIGHT

LED STOP/TURN/TAIL, DRIVER SIDE, WHITE BASE - LOW PROFILE

INC STOP/TURN/TAIL, DRIVER SIDE, WHITE BASE

CLEARANCE/MARKER OBLONG RED WHITE BASE

4

4

4

4

4

4

3

2

2

2

2

2

3

3

2

2

2

2

2

2

3

3

3

3

2

2

2

2

2

3

REF #PART # DESCRIPTION KIT QTY

RV PARTS PRO LIGHTS STORE KIT: SK-RVLT

RVPL1A

RVPL5AB

RVPL5A

RVPL7C

RVPL7CB

RVPL3C

LT51-030

LT53-030

LT53-100

LT53-060

LT54-040

LT53-040

LT51-040

LT51-010

LT53-010

LT53-080

LT53-050

LT54-020

LT53-020

LT51-020

LT52-030

LT52-040

LT52-010

LT53-010

LT53-070

LT53-090

LT54-010

LT54-030

LT53-020

LT52-020

PICTURED ON PAGE 54



56

RV PARTS PRO LIGHTS STORE KIT

4 Ft . Plan-O-Gram Includes:
• RV Parts Pro Lights Store Kit 

PART#: SK-RVLT
*Shelving not included

• Includes Marker/Clearance and Stop/Turn/Tail Lights
• Lens with reflex eliminates need for separate reflector
• Surface mount with replaceable snap-on lens
• Driver side lights include license plate illuminator and mounting bracket
• LED lights include lifetime warranty

by

BRAKE PARTSBRAKE PARTS

TOWINGTOWINGELECTRICALELECTRICAL

JACKS/COUPLERSJACKS/COUPLERS

HARDWAREHARDWARE

RUNNING GEARRUNNING GEAR

Check the color code to find your part quick and easy.

Exclusively 
Distributed by: TRAILER SUPPLIES

SM

FREE Trailer Parts Pro Header 
Card and Wall Banner!
(with Purchase of Store Kit)

by

BRAKE PARTS

HARDWARE

JACKS/COUPLERS

TOWING

ELECTRICAL

RUNNING GEAR

BRAKE PARTS

TOWING

ELECTRICAL

JACKS/COUPLERS

HARDWARE

RUNNING GEAR

PART#: BANNER-2448  |  Trailer Parts Pro Banner  
4-Grommets, 1-side, 24”x48”



57

INDEX
AIR BRAKES
Air Brake Shoe & Lining Kit ............................. 14

ELECTRIC BRAKES 
Actuating Arms ....................................................6
Adjuster Spring .................................................... 7
Brake Adjuster Cable .......................................... 7
Brake Adjusters ....................................................6
Brake Dust Shield ................................................8
Brake Springs ....................................................... 7
Electric Brakes .....................................................3
Electric Brakes - Self Adjust ..............................3
Magnet Clips .........................................................5
Magnet Kits ...........................................................5
Shoe & Lining Kit .................................................4

HUB KITS 
Pre-Greased Idler Hubs .....................................15

HUB/DRUM KITS 
Pre-Greased Hub/Drum Kits .............................16

HYDRAULIC BRAKES
Adjuster Spring ....................................................11
Brake Adjusters ....................................................11
Brake Dust Shield ...............................................12
Brake Line Fittings ............................................ 14
Brake Line Trailer Kits .......................................13
Brake Lines ..........................................................13
Brake Springs .......................................................11
Calipers & Caliper Repair Components ..........13
Hydraulic Brakes ..................................................9
Hydraulic Disc Brake Pads ................................12
Shoe & Lining Kit ............................................... 10
Shoe Hold Down Kits ..........................................12
Wheel Cylinders....................................................9

COUPLERS
Coupler Repair Kits ...........................................33
Couplers ...............................................................33

ELECTRICAL
Adapters ..............................................................29
Brake Control Harnesses ...................................31
Brake Controls .....................................................31

Breakaway Battery ........................................... 30
Breakaway Kit Accessories ............................. 30
Breakaway Kits.................................................. 30
Harnesses & Connector Systems ...................29
Taillight Converter ............................................ 30

HARDWARE
Latches & Handles ............................................ 38
Spare Tire Carriers ............................................39
Tie Down Attachments .....................................36
Torx Products .....................................................39
Trailer Chain ........................................................35
Trailer Chain Hardware .....................................35
U-Bolts & Hardware ...........................................36
Underbody Toolbox with Anchor Latch ........ 38
Underbody Toolbox with T-handle Latch .......37
Underbody Toolboxes .......................................37

JACKS
Jack Replacement Parts ..................................32
Jacks ....................................................................32
LIGHTING
Conspicuity Tape & Reflectors ....................... 28
Incandescent ID Bar Lights ..............................27
Incandescent Marker/Clearance Lights .........26
Incandescent Stop/Turn/Tail Lights ...............24
Incandescent Tag Lights .................................. 28
Interior & Work Lights ..................................... 28
LED ID Bar Lights ..............................................27
LED Marker/Clearance Lights ..........................25
LED Stop/Turn/Tail Lights................................23
LED Tag Lights ...................................................27
Lighting Accessories .........................................26
Packaged Light Kits ..........................................27

RUNNING GEAR REPLACEMENT 
PARTS
Bearing Kits .........................................................17
Bearing Protectors .............................................17
Complete Oil Cap Kits ........................................19
Dust/Grease Caps .............................................. 18
Grease/Oil Seals ................................................. 18
Spindle Nut Kits ..................................................19
Wheel Bolts & Studs ......................................... 20
Wheel Nuts & Wheel Nut Locks ...................... 20



INDEX
STORE KITS
RV Parts Pro Lights Store Kit ........................ 55
Trailer Brake Parts Store Kit ........................... 41
Trailer Parts Pro Hardware Store Kit ..............51
Trailer Parts Pro LED Store Kit .......................47
Trailer Parts Pro Lights And Electrical Store Kit.. 45
Trailer Running Gear Store Kit ....................... 42
Trailer Parts Pro Running Gear and 
 Suspension Store Kit ............................53
Trailer Parts Pro USA LED Lighting Store Kit ...49
 
SUSPENSION
Packaged U-Bolt Kits .........................................21
Shackle Straps ....................................................21
Suspension Bolts & Nuts Kits ......................... 22
Suspension Bushings ....................................... 22

TOWING ACCESSORIES
Ball Mounts ........................................................ 34
Hitch Pins ........................................................... 34
Receiver Tube Covers ...................................... 34

58



59

NOTES



60

FIND THESE 
PRODUCTS AT:

ADMINISTRATIVE OFFICES
2100 N. West Bypass
Springfield, MO 65803
(417) 864-5210
FAX: (417) 864-7764

ALABAMA    
1300 E. Hwy. 20-157
Tuscumbia, AL 35674
(256) 386-0328
FAX: (256) 386-0340

CALIFORNIA
5700 S Mandarin Ave.
Fresno, CA  93625
(559) 834-4655  
FAX:  (559) 834-4755

CALIFORNIA
11171 Venture Drive
Mira Loma, CA  91752
(951)  685-8384
FAX:  (951) 685-8295

COLORADO
7701 Miller Drive
Frederick, CO  80504
(303) 702-1799
FAX: (303) 828-3434

FLORIDA
3315 US 301 North
Tampa, FL 33619
(813) 628-0000
FAX: (813) 626-1871

GEORGIA
308 James E. Williams Ind. Dr.
Byron, GA 31008
(478) 956-0304
FAX:  (478) 956-0314

IDAHO
15778 Hwy 20/26
Caldwell, ID  83607
(208) 459-7956
FAX:  (208) 459-8375

ILLINOIS  
109 Merle Lane
Normal, IL 61761
(309) 862-1000
FAX: (309) 862-2320

IOWA
1240 Imperial Road
Hampton, IA 50441
(641) 456-5694
FAX: (641) 456-2180

KANSAS
10606 E. 26th St. North
Wichita, KS 67226
(316) 263-6090
FAX:  (316) 263-9279

MINNESOTA
3111 Southway Drive
St. Cloud, MN 56301
(320) 654-1972
FAX: (320) 654-1990

MISSOURI
2400 E. Malone
Sikeston, MO 63801
(573) 472-3839
FAX: (573) 472-0416

MISSOURI
2100 N. West Bypass
Springfield, MO 65803
(417) 864-5856
FAX: (417) 864-5221

NEW YORK
51 Wood Road
Round Lake, NY 12151
(518) 877-5001
FAX: (518) 877-5056

NORTH CAROLINA  
550 Sigmon Road
Lincolnton, NC 28092
(704) 732-3232
FAX: (704) 732-3202

OHIO
5178 Fisher Rd.
Columbus, OH  43228
(614) 878-9445
FAX: (614) 878-2550

OKLAHOMA   
1202 Pikes Peak Road
Chickasha, OK 73018
(405) 224-2195
FAX: (405) 224-0622

PENNSYLVANIA 
10 Roadway Drive
Carlisle, PA 17015
(717) 241-4444
FAX: (717) 241-6210

TEXAS
1900 South Peyco Drive
Arlington, TX 76001
(817) 468-2626
FAX: (817) 468-9876

TEXAS
1260 S. Hillcrest Street
Sulphur Springs, TX 75482
(903) 885-9656
FAX: (903) 885-9865



Exclusively Distributed by:

TRAILER SUPPLIES
SM

BRAKE PARTS

RUNNING 
GEAR

ELECTRICAL

JACKS/
COUPLERS  

TOWING

HARDWARE


